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���������� ����!�����"�#$%���&�'()��*(�+���*��,�-����������� ����!�����"�#$%���&�'()��*(�+���*��,�-����������� ����!�����"�#$%���&�'()��*(�+���*��,�-����������� ����!�����"�#$%���&�'()��*(�+���*��,�-���������.�	�/����01�2-���������.�	�/����01�2-���������.�	�/����01�2-���������.�	�/����01�2-�����������������
��
��&��'(���)*+�,�-'����.+��$��/�)��0����1�2�3����4��567������8��9:;<�=�$��$>��?�@:�>A��?�B����C

��������D�<>������E>����
:F�?��1G�HI�J��� �� �� �� �� �� ����&�&&&&&�&&�&&&& ���

��&��K�'���,��<�����L>A���2�7���C���+�.$�M�<�BN���-'�O�J��� �� �� ���&&�&�&&&&&�&&�&& ���

���&��@:�>8��
:F�,�PQ�;�$�?R+�S��T�$��P���3�K�'���.+�����+����L���'U3�BN���=VA��W����<K�'���C'X��J�������� �

����� �� �� �� �� �� �� �� �� �� �� ����&�&&&&&�&&�&&&& ���

���&���G;�$�����Y�@:�>8��
:F�)2��Z��<�K�'���,���T����L>A���2�7���C���+�B��T<��<>[\�S�>
]J���

������ �� �� �� �� �� �� �� �� �� �� ����&�&&&&&�&&�&&&& ���

��&���C'(���,�PQ�;�$�?�6�7O���^:�>8��
:F�R+�S�<F>E�S�P���3�K�'���.+�����+����L�=V8�W����<J� �

� ����������� �� �� �� �� �� �� �� �� ����&�&&&&&�&&�&&&& ��  

��&��=VA��,�PQ�;�$��6�7O���3:�>8��
:F�R+�S�<F>E�S�P���3�K�'���.+�����+����L�C'X�W����<J�� �

� �� �� �� �� �� �� �� �� �� �� ���&&&�&�&&&&&�&&�& ���

��&�,�K�'���_\��6��R(`�BN���K�'��J����� �� �� �� �� �� ����&�&&&&&�&&�&&&& ���

	�&��,�K�'���.+��<��T�O����VA���
��aO�,�K�'���.+��<��T�+�F�;$��b�$�B��c���1�T
\�C'(����@:�>A���
:F�;�$J�

� �� �� �� �� �� �� �� �� �� �� ����&�&&&&&�&&�&&&& ���


�&�'d��eI�BK�f�C��g�,�\��+�;8��.$�h3�����C'(���;�$�C��i��=VA�S�<��T+�S��V8�)�1T
\�@:�>A���
:FJ�� �

� �� �� �� �� �� �� �� �� �� �� ����&�&&&&&�&&�&&&& � 

��&�j�P����1(���R+�)$�
�3�k�,�K�f�@;$�.+�C��i�#�����C'(���Z��<�?�@:�>A���
:F��=VA��,�PQ;�$��

�������C��a����\��O��,�K�'�����l����m�'(���n��/�B��T<J����� �� ��� �����&&�&&&&&�&&�&&&� ��

��&�>[���;�$�K�'���.+�;8�������O��=V8�o�B��T<������6�����22.4 LJ� �� �� �����&&�&&&&&�&&�&&& �������

� �� �� �� �� �� �� �� �� �� �� ���

��
��
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� �� �� �� �� �� ���

��3�4�����������3�4�����������3�4�����������3�4������������� 

���15��67���15��67���15��67���15��678888�����9��9��9��9����15����:�:$����	�/����*���+%��*(�+���*����15����:�:$����	�/����*���+%��*(�+���*����15����:�:$����	�/����*���+%��*(�+���*����15����:�:$����	�/����*���+%��*(�+���*��8�8�8�8χχχχ�9��9��9��9��;<��	�/����*���+%��*(�+���*��;<��	�/����*���+%��*(�+���*��;<��	�/����*���+%��*(�+���*��;<��	�/����*���+%��*(�+���*�
�2!=��01�2-�>��:�:$���2!=��01�2-�>��:�:$���2!=��01�2-�>��:�:$���2!=��01�2-�>��:�:$����������������������������������������������

��&����F:�P������p���q�*L�.+�)2��.g�T������p���q�*LJ� �� �� �� �� �� �� ����&&& � 

��&���@:N�����l��Q�,��<�
�.+�Z���3��<>"�����,�K�'���R�rJ� �� �� �� �� �� ����&&& � 

��&�)6<���L>A���1�2�E�C���+�Zsq���$����Z�:;
��K�'���,���T
�_��>��TO���F�"�����V��\�J� �� ����&&& ���

4&�<�
�t>0�3��L>8�K�'���,���@>8���6�T+�m�7g�u��@>��T+���l��U$� �J� �� �� ����&&& ���

5&�
��F�"�3F�"3�j�P����1(���R+�K�'���,��<�S�+\>+�S�� �J� �� �� �� �� �� ����&&& ���

6&��,��<�
�_���q�TO��.+�)2��)l�T���_VTL��,��<�
�_���q�TO�_VTL���K�f�J� �� �� ����&&& � 

7&���)�U���m�'(\v������2�,�K�'���R�rwX���J� �� �� �� �� �� �� ����&&& ���

8&0x3��b�$��7'X�,�K�'���y;B��A����\z��Z�:;
��pJ��� �� �� �� �� �� ����&&& ���

9&��@:;6���,�K�'���@-PL:�U�\k��b�$J��� �� �� �� �� �� �� �� ����&&& ���

10&����L{�
3:I�K�'���@:�>8��
:F�C���+�)2�K�'���,��<�����L>A���2�7��J� �� �� �� ����&&& ���

11&��#G�C'(���9��6������;���@;8��������������������kPa �J�� �� �� �� �� ����&&& ���

��&��C'(��#���6���F��<����101.3 kPaJ� ���� �� �� �� �� �� �� ����&&& ���

��&��@;8����<�������
:F�)L�F��3@:�>A��,�
:;��.
�L�9��6+�b�$�@;8����
:F�J����� �� ����&&& ���

��&��@:�>8��
:F�{\�L��eIK�f�.+�����+����L�B��T3���253 K� �$��^:�>8��
:F�Zsq�?�B����T���h<:;����b���
��������B��T3�°°°°C �- 20� �J� �� �� �� �� �� �� �� �� �� ����&&& ���

��&��K�'�������O����������+�K�f�!"3�|���,�-'�O��.+J��� �� �� �� �� �� ����&&& ���

��&��!"����>Q}O��C'(���)6<��+;�$�!�(���K�f�.+�����+����L�=V8�F�F�<�@:�>A���
:F�,�PQ�;�$J� ����&&& ���
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��

��&��C�g�;�$��1 L� ��R+�_
�>������K�f�.+��0.5 L� ����V8���\I�u�_VTL���K�f�.+��1 L� ��u���
�������B��T<�h3�����m��aO��=V8�Zsq�?�@:�>A���C'(���.+�o�>[���5
\��1.5 L �J�� �� �� ����&&& ���

��
�	&��wX�<�BN���Z�\�6���_���2~�����V�?�P� ��K�'���,�PQ�;�$��T�?�n� �x<o>���)<���Z�\�6J���� ���&&�& ���

�
&��1��$�R2�����C'(���,�PQ�;�$��1�V8��K�'���.+�����+����L�@:�>8��
:F�_���2~����wX�<�)<���Z�\�2J�� �

���������� �� �� �� �� �� �� �� �� �� �� �� ����&&& ���

��&��,�PQ�;�$��1��$�R2�����C'(���R+��<F>E��P���3�K�'���.+�����+����L�=V8�W����<��n�?�T �J��� ����&&& ���

��&o>�x3��2~����X�<>��������V1  x  P1  =  V2  x  P2� ��Z�\�6���;8�O�,�K�'���J�� �� �� ����&&& ���

��&���:;2���V8�)'U3������p��K�f�.+����$��0.4 L�� ��C'X�{c��80 kPa� ���
:F�{����esq�?��
������B��T<��1��$�R2�����C'(���wP]�������Q��^:�>8��40 kPa� ��wP"<��1�V8�Zsq�?��0.8 L �J��� ����&&& ���

��
��&����'U<�BN���=VA�0.5 mol �C'X�;�$������p��K�f�.+�100 kPa���'U3�BN���=VA��!"\�B��T<����� �

�������C'X�;�$�K�'���.+��������5
\200 kPa�@:�>A���
:F�,�PQ�;�$�J� �� �� ��� ����&&& ���
��

��&���:;2���V8�)'U3�Z������K�f�.+����$��400 mL� ��C'X�{c��60.78 kPa� �(���wP]���esq�?�C'��
�������1��$�R2������34.47 kPa� ��wP"<��1�V8�Zsq�?�����Q��^:�>8��
:F�{����?��800 mL �J�� �����&&& ���

��
��&��_VTL���K�f�.+����$��Q;c�BN���C'(���Z�L��eI�{��Q���V8���\I�u�@F�
�+�;�$�°°°°C �27 ���
������B��T<��80 kPa� ��;�$��17'X�Zsq�?��330 K� ��B��T<��160 kPa �J��� �� �� ����&&& ���

��
��&���:;2���V8�)'U3�_
�:;�p��K�f�.+����$��L.7 0�� ��C'X�{c��kPa.78 60� ���
:F�{����esq�?��
�������1�V8�wP]�������Q��^:�>8��1.4 L� ��wP"<��1��$�R2�����C'(���Zsq��10.13 kPa� �J� �� ����&&& ���

��

��
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��

��&�j
g�����6�7O���^:�>8��
:F�@F�<���,�K�'���F;��3�1��$�R2�����C'(���� �J� �� �� ����&&& ���

�	&��_���2~�����V�?�T� ��,�PQ�;�$�.+�)L��P�?�n� �Z�\�6��b�T3�t�����B�
J��� �� �� ����&&& ���

�
&����7O��>
"���F��<��°°°°C �273��&�� �J� �� �� �� �� �� �� �� ����&&& ���

��&���<>[\�K�'���=V8��G;�$��;��<�@:�>8��
:F�)2�C'(���,�PQ�;�$�B��T3��°°°°C �- 273 �J���� ����&&& ���

��&��;�$�=VA��{��Q���\I�u����p��C'X�Z�L��eI�°°°°C �27�� ��B��T<��253.25 kPa� ���
:F�{0P]���esq�?��
���������3:�>8�°°°°C �20� ��wP"<��7'X��Zsq�?��247.3 kPa �J��� �� �� �� �� ����&&& ���

��&���:;2���V8�)'U3�_
�>������K�f�.+����$��100 mL� ��C'X�{c��101.3 kPa� ��esq�?�C'(���F�K���
��������I��1��$�R2������151.95 kPa� ��wP"<��1�V8�Zsq�?��^:�>8��
:F�,�PQ�R+��150 mL �J�� ����&&& ���

��
��&��6�7O���3:�>8��
:F�R+���T�$��P���3�W����<�K�'���.+�����+����L�C'X�Zsq�?�=VA��,�PQ�;�$J�������&&& ���������

��&�L���K�f�.+�����+����L�=V8�W����<��6�7O���^:�>8��
:F�R+��<F>E��P���3�_VT�C'(���,�PQ�;�$��
������R2�����C'(���R+���T�$��?���1��$�@:�>A���
:F�,�PQ�;�$��6�7O�J��� �� �� �� �����&&& ���

��
��&���:;2���V8�)'U3�_
�>������K�f�.+����$��500 mL� ���
:F�;�$�°°°°C � 27� ��C'X�{c��?��

��������101.3 kPa� �1�V8�Zsq�?�wP"<������6���o�>[���u����455 mL �� �J� �� �� ����&&& ���
��

��&����V8������p��K�f�.+����L����Z������2L� ��@:�>8��
:F�;�$�°°°°C � 27� u�Z���P���RX��;�$��?��
��3:�>8��
:F�.g�����O��������°°°°C �50 ��Z���P���=V8�wP"x<��4L� ��C'(���,�PQ�;�$J��� �� ����&&& ���

��
��&��+����p��.+����$�C'X�{c�{��Q���V8���\I�u��$�X��30 kPa� ���
:F��°°°°C � 27� �?��

���������^:�>8��
:F�{0P]���esq�°°°°C � 47� �wP"<��17'X�Zsq�?��32 kPa �J��� �� �� ����&&& ���
��

�	&����V8���\I�u��$�X�+����p��.+����$��0.8 L� ��C'X�{c��50.65 kPa� ��
:F��°°°°C � - 13� ��
�����>8��
:F�{0P]���esq��^:��°°°°C � 52� ��17'X��?��25.32 kPa� ��wP"<��1�V8�Zsq��2 L �J��� ����&&& ���
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�������������������������������������� ���!"��������#��$� ����������%����������� � 

��
�
�&����V8���\I�u��$�X�+�_
�:;�p��.+����$��400 mL� ��C'X�{c��121.56 kPa� ���
:F��°°°°C � 27� ��

�����������^:�>8��
:F�{0P]���esq�°°°°C � 47� ��1�V8��?��0.256 L� ��wP"<��17'X�Zsq�?��303.9 kPa � J� 

� �� �� �� �� �� �� �� �� �� �� �� �� ����&&& ���
��&��)'U<��0.5 mol� ���:;2���V8������6���o�>[���u�_
�:;�p��K�f�.+��0.5 L� �J�� �� ����&&& ��

��&��K�'���.+�;8�������O����*O���:;2���V8������6���o�>[���u�)'U<��22.4 L �J�� �� �� ����&&& ���

��&��)'U<��0.5 mol� �>[���u�Z�*�O��K�f�.+��:;2���V8������6���o���11.2 L� �J��� �� ����&&& ���

��&���G;�$�)'U<�|���@:�>A���
:F��4 mol� ���:;2���V8������p��K�f�.+��41 L� ��C'X�{c��
��������202.6 kPa� ��B��T3��- 23 °°°°C � ����P<>63��Z���S���$��8.31 = R �� �J� �� �� ����&&& ���

��
��&���G:;2����L�)'U3��8 g� �*�O��K�f�.+�Z���16 = CH4� ���:;2���V8��12.3 L� ���
:F�;�$��

�������27 °°°°C � ��C'X�{c���101.3 kPa� �����Z���S���$��8.31 = R �J� �� �� �� ����&&& ���
��

��&���G:;2����L��G;�$�)'U3�|���@:�>A���
:F��8 g� �������p��K�f�.+��4 = He� ���:;2���V8��
���������32.8 L� ��C'X�{c��151.95 kPa� �B��T3���C�27° ��S�P<>63���Z���S���$��8.31 = R �J�� ����&&& ���

��
��&��_
�:;�p��.+���O����'U<�BN���=VA���1 = H� ��_VTL���.+���O����'U<�BN���=VA��B��T<��

��������16 = O� �@:�>A���C'(���.+�o�>[���5
\�u���VA���NG�9��2�;�$J���� �� �� ����&&& ���
��

��&�+����L�=V8�W����<�,�PQ�;�$��3k�+�F;$�R+��<F>E��P���3�K�'���.+������.+�)L��P�?�T �J�� ����&&& ���

�	�&��_
�:;�p��.+�;8�����+���'U<�BN���=VA��Z�L��eI��1 = H� �B��T<������6���o�>[���u��
���������22.4 L� ����'U<�BN���=VA��Zsq��3 g� ��_
�:;�p��.+H2��B��T<�o�>[���5
\�u��67.2 L �J�� �
������ �� �� �� �� �� �� �� �� �� �� �� �� ����&&& ���
�
&����'U<�BN���=VA���8 g� ����'U<�BN���=VA��B��T<�_VTL���K�f�.+��0.5 g� ��_
�:;�p��K�f�.+��

�������o�>[���5
\�u���1���2�;�$��O���16��?�H���1� �J� �� �� �� �� �� ����&&& ���
��
��
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�������������������������������������� ���!"��������#��$� ����������%����������	 � 

��
��&��)'d��eI��1 mol� ��V8������6���o�>[���u�Z������K�f�.+��:;2����22.4 L� ��BN���=VA��Zsq�?��

����������'U<��0.5 mol� ��B��T<�o�>[���5
\�u�_VTL���K�f�.+��11.2 L �J�� �� �� ����&&& ���
��

��&����V8���\I��1 L� ��C'X�{c�_
�>��\�K�f�����50.65 kPa� ����V8�>g����\I��?��1 L� ����� �
�������C'X�{c�_VTL��K�f��75.975 kPa� ��esq�?���V8��:�q���\I��I�.<K�'���)6\����1 L � ��=V8�Zsq�?��
������wP"<�;<;�����\z��u�.<K�'����2 L �J�� �� �� �� �� �� �� �� ����&&& ���

��
��&����V8���\I��1 L� ��K�f���p��C'X�{c��������50.65 kPa� ����V8�>g����\I��?��1 L� ����� �

�������K�f���C'X�{c�Z�����75.975 kPa� �6\����esq�?���V8��:�q���\I��I�.<K�'���)�1 L � ��C'(���Zsq�?��
�������wP"<�;<;�����\z��u�.<K�'���#�����kPa�������� �� �J�� �� �� �� �� ����&&& ���

��
��&����V8���\I��2 L� ��C'X�{c�_
�:;�G�K�f�����101.3 kPa� ����V8�>g����4 L� ��_VTL��K�f���

       {c �C'X��60.78 kPa� ���)]���esq�?���+�_l�\z���)�1+���]����=V8�Z���>
�� �_VTL���=V8�Zsq�?
       wP"< ��6 L� ��wP"<��7'X���40.52 kPa �J�� �� �� �� �� �� �� ����&&& ���

��
��&��BK�f�b�$�B��4�W�]���$���u������p��,k�+�F;$�@F�<K�;�$�_
�>������K�'��#l����C'(���F�F�<����

���������
:F�u������p���_
�>�����������Q�@:�>8�J�� �� �� �� �� �� �� ����&&& ���
��

��&�Z������K�'��#l����C'(���Z�L��e��100 kPa�,�K�'���.+�C��g�b�$�B��4���$��u�#�����C'(����
���������B��T<300 kPa�B��T<��>g���,�K�'���#l����C'(���Zsq�200 kPaJ�� �� �� ����&&& ���
��

��&�t�����>�6<�K�f�#6�6A���.+{c���*O��K�'���t����(
a�O��@:�>A��,�
:F�;�$����
3>O��m�'(���J���&&& ���
��&��3��<�
�Z����*O��K�'������g�.+ ��(����1(���R+�>q���3�����e�V�3�kJ� �� �� �� ����&&& ���
�	&�,��<���#��
���=VA� ���*O��K�'��.���kK�'����<�4�BN�����\z��=VA��PT������p��I��J�� �� ����&&& ���
�
&�A��,�K�'�����6�6��T3�k���*O��K�'���t������m�'(���{c��(
a�O��@:�>A��,�
:F����
3>OJ�� ����&&& ���

��&K�'���,���T
�_���e�V�������_�+�$��I���*O��t��T���.$���6�6A��,�K�'���F��8�WP��F��<�� �
,���T����NG�=V8�������J��� �� �� �� �� �� �� �� �� �� ����&&& ���
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�����
�������������������������������������� ���!"��������#��$� ����������%����������
 � 

��������������������������������?��4�?��4�?��4�?��4���������������������
���15��67���15��67���15��67���15��67�8�8�8�8���������9�9�9�9*���+%��*(�+���*�*���+%��*(�+���*�*���+%��*(�+���*�*���+%��*(�+���*����������2!=��01�2-��@��2!A���:�:B�����C�,�3�����������2!=��01�2-��@��2!A���:�:B�����C�,�3�����������2!=��01�2-��@��2!A���:�:B�����C�,�3�����������2!=��01�2-��@��2!A���:�:B�����C�,�3������������������

��&�����������l�"i����1��r�,�K�'�������3�1�+�@;8����;$�#G�����
��� ���F;��=V8����)�d��p�5����� �� �� ����� ������$>T��:�U�\k��b�$�@:;6����p��
��� ����������$�,��<����_���e�V������2� �� ���� �������>g���@F�O��,k�A��PT������;
�@-']��1�q�*L��
��
��&��@;8�������;���K�'���=V8�9��6����#G���
��� �����>����L��� �� �� �� �� ����� ���>����O��R�>O��� ������������ ���
������ ��>�O�R�>O�� �� �� �� �� ���� �����Z�������
��
��&�B��T<�K�f�.+�����+����L�=V8�Z�L��eI��mL� 700� �{c�C'X��86.64 kPa�� ���6\z��K~���C'(���Z�q

�����I�=VA���L��0.5�� �B��T<�@:�>A���
:F�5
\�;�$���
������ �60.6 kPa � �� �� �� �� ���� �����121.3 kPa  ���� �

��� ��� �          23.5 kPa � �� �� �� ����� ���� 18.2 kPa��
��
��&��|���@:�>A���
:FB��T3,���T����L>A���2�7���C���+��G;�$��K�'�����,�PQ�;�$�S�>
]�C'(��#G����

���� ���� 273 
o 
C� �� ��� �� �� ���� ����� 0 K� ������������������ �

���� �� – 273
  
K  �������� �� �� �� ���� ���� 100 

 
K ��

��
��&��;�$���
:F�Rq:���6�7O��@:�>A��!�(����I���*+�K�'��C'(���,�PQ�;�$�?���V8�Z�q���

���� ������)6<"��!� �� �� �� �� ����� ���-'�<�k���� ���������� �
��� �������_�*O����I�;<�<�� �� �� �� ���� ����R�>���)6<���
��
��&��:;2���V8�)'U3�_VTL���K�f�.+�����+����L��L�8�� ;�$@:�>8��
:F����o

C�27�� q��
:F��I�{�a���es��
�����K �420�� R+�C'(���,�PQ��?��V8�Z�q�1�<�B��T���
�� ����� 124.4 L� �� �� �� �� ���� ���43.5 L      ������ � �
���� ���11.2 L ����������� �� �� �� ���� ��� 106 L��
��
��
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�����
�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
��&�����L�����+�17'X�K�f�.+��253.25 kPa �� �^:�>8��
:F�����K�200�� �^:�>8��
:F�{0P]���esq� �

������K �400�� �R+�V8�,�PQ�1��?<��17'X�Z�qB��T����
��� ����50.65 kPa�  � �� �� ���� ��� 1013  kPa    � �
��� ����5.65  kPa �� �� �� �� ������� � 506.5 kPa ��
��
	�&��K�f�.+����$��$�X�+C'X�{c���\I�u��50.65 kPa �� @:�>8��
:F����°

C���� �
:F��I�{�a����
�����o

 C �27�� �Zsq�?�{��Q��1�V8�)���esq�?7'X�1���wP"<����
��� ����� 55.66 kPa� �� ��� �� �� �������� ��� 760 kPa� �� �� �

������ ��kPa�����.�	� �� �� �� �� ��������� ��330 kPa��
��


�&�����L�����+�1�V8�K�f�.+��L�5�� �^:�>8��
:F�����K�300�� �17'X����101.3 kPa� ����
:F�{0P]���esq����
�������^:�>8����K�600�� �17'X����202.6 kPa� ���B��T<��1�V8�Z�q���
��� ���10 L     � �� �� ���� ���1.5 L     ������� � �
���� ��� 7.5  L   �� �� �� ���� ��� 5 L ��
��

��&����K�'k��#X�>�q�BN���K�'����G�F��8�~��o�>[���)L�{c�,�K�'���_\��2�R�r��L����u�RP�<� 

� �������#6�6A���� �� �� �� �� �� �������76��� ������������ �� �
��� ������*O��� �� �� �� �� �� ����� ����76���-f��

��
��&)'U3����g�4�� _
�:;�p��K�f�.+���H = 1�� ��:;2���V8������6���o�>[���u���
���� �� 22.4L  � �� �� �� ����� ��11.2 L  ���������� � �
��� ����44.8  L         ���� �� �� ���� ��� 89.6 L ��
��

��&���'U<�BN���=VA����mol� 0.5� @:�>8��
:F�;�$�Z��>����;�TL����Q�K�f�.+��o
 C � 27� �����C'X�{c���

����������101.3 kPa� ��B��T<�� ����8.31 kPa.L/mol.K���� R� ��
���� �� 4.46 L  � �� �� ����� ��� 2.46 L  ����������� �
���� ��  24.6L   �� �� �� �� ���� ��� 12.3 L  ��
��
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

 

��&�K�f�,k�+�F;$���CO��� u�@F�
�O�����V8���\I�L�7.38�� @:�>8��
:F�;�$��o
C �27� �C'X����

��������101.3 kPa �<�B��T������8.31 kPa.L / mol.K���� R� ��
��� ����� 0.3 mol� �� ��� �� �� ���� ����� 0.6 mol� �� �� �
�� ������ 3.33 mol� ����������� �� �� ����� ���� 1 mol��
��

��&����L�C�g�;�$����+��1�V8�K�f�.+����L�3�� C'X�{c����202.6 kPa ���K�'���5
\�.+��>g�����L�R+
�������1�V8���L�2�� C'X�{c�����303.9 kPa ���V8���\I�u���L �6�� #�����C'(���Zsq��,�PQ��>
��K�'����
������A���
:F�B��T<�@:�>���
��� ���� 303.9  kPa� �� ��� �� �� ���� ����� 101.3 kPa� �� �� �
�� �����  kPa������ ��� �� �� �� ���� ��� 202.6 kPa  ��
��

��&���;8,��X>q���L>A���<>[���BN����,�K�'�����P7�<�k�b�$�B���G�#6�68�K�f����
 ����������l��U$��L>8�u��$>T��K�'���,���T
�t>0�3�J� �� �� ���
 �������<�K�'���C'X�.$��U����,�+F�"�K�'���,���T
�_��@>��TO��R+�:�;
���$����J��

��� ����k��K�'���,���T
�_���e�H����>q��3���2�;
�3J���
 ��������K�'����6�7O��@:�>A���
:F�R+�S�<F>E�W����3�K�'���,���T����L>A���2�7���C���+J��

��
��&�u�-'�����_���2~����)*��BN������P����0�O���^:�>8��
:F�,�PQ�;�$��17'X��K�f�.+�����+����L�=V8�

��������G��6�7O����
��
 

 

��
��
��

������������� ������� �������������������� �������������������������� ����������������������������� � ��������
��
��
��

V V V V 

P P P P 
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

P 

��
17&�������+����L�C'X�u�-'����_���2~����)*��BN������P����0�O�,�PQ�;�$��6�7O���^:�>8��
:F��K�f�.+���

����������G�=VA����
  � ���

��
��
��

������������������������������������������� ����� ������������������������������ ����������������������������������� ��
��

�	&��Z���q����p��.+����L�5P4��PlK�����<>�d����P\��)*��)��6O��=�>��B��T+�9�P������p��C'X��
��������B����C'(����
���√��  �B����C'(�������Pl����F��$�C'X��
�������� �B����C'(��&���Pl����F��$�C'X���
�������  �Pl����F��$�ZK��� �� �� �� �� �� ���

��
�
&��)��6O��=�>���.+�Zsq�C'X���p��B��T<�9�P�������

 ��������B����C'(����
���������B����C'(��������Pl����F��$�C'X���
����������B����C'(���&�����Pl����F��$�C'X��
����������Pl����F��$�ZK����

��
��&��)��6O��=�>���.+�ZsqB��T<�9�P������p��C'X�����
�������B����C'(���� �� �� �� �� �� ���
���������B����C'(��������Pl����F��$�C'X��

���������B����C'(���&�����Pl����F��$�C'X��
���������Pl����F��$�ZK����
��
��
��

�����PlK 

����9�P�����G� 

�����PlK 

����9�P�����G� 

�PlK 9�P�����G 

P P P 

T T T T 
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
��&������������i���;8I�M��3�k�#G���,�K�'����+��������i��.+����

 ��������Z������;$��1�[�+���q�
d�,�K�'���R�r�� �� �� �� ���
 �����������q�RX�3�BN�����>
���u��$>T��:�U�\k��b�$�@:;6���,�K�'����
 ���������
�~��X�K�'���,��<���#��
���=VA�K�'�����'U<�BN�����>
���=VA��PT������;��

������ �����^��<�
�_���e�V����@�2�ML�WPT�����1T������3��,�K�'���F;��3��
��

��&������������i���;8I�M��3�k�#G��,�K�'����+��������i��.+����
 ��������� ��q�RX�<�BN�����\z��=V8��)�d�Ng�<�)��F;��=V8����)�d�K�'���5����

��� ���� �������2��1��r�,�K�'��vm�'(\�wX���)�U�����
 ������� �o�>[���5
\�{c�m��aO��u�@;8�b�$�K�f�)L�=V8�B��T<�,�K�'���m����=V8��
 ���������_VTL����q�*L��<K�'������A��u����_VTL����q�*L�.+�ML�)l�T��

��
��&���������,�;8�����;8I�M��3�k������;���,�;8����.+��9��6���+;a�TO,�-'3?��<K�'������A����#G����

 ���������mol� �� �� �� �� � ���������atm��� �� �� �
 ����������K� �� �� �� �� � ���������kPa���

��
��&�b�T<���6�7O���^:�>8��
:F�,�PQ�;�$��17'X��K�'���.+�����+����L�=V8�_���2~����wX�<�BN���Z�\�6���

���������Z�\�2���
 ����������)<����� �� �   ������ �����:�U3� �� �� �� �
 ��������t�����B�
� �� �� �� ��� ���������l����m�'(���Z����F��

��
��&�+�;�$�R2�����C'(����
$�(b�$����L�@F;���1�V8�Zsq�?��^:�>8��
:F�,�PQ�;�$�K�f�.+����

� �������!�(����I�;<�<�� �� �� �� ��������-'�<�k�� ���������� �
 �������R�>����I�)6<�� �� �� �� � �����������I�)6<�!"����

��
��
��
��
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��
��&���K�f�.+����$���:;2���V8�)'U3�Z�
:�mL�250�� ��17'X�Z�L��+;�$�202.6 kPa�� �17'X�wP]���esq�?������

���������506.5 kPa��� �wP"<��1�V8�Zsq�?�@:�>A���
:F�,�PQ�R+��P<>63���
 ��������500 mL� �� �� �� � ��������100 mL� �� ���
 ��������375 mL� �� �� �� � ��������0.04 L���

��
��&���V8�Z������L�0.6�� ��:;2�C'X�{c������p��K�f�.+����L�����101.3 kPa�� ��^:�>8��
:F�{����esq�?

����������17'X�wP]���?�����Q�kPa  �40�� �wP"<��1�V8�Zsq�?���
 ��������1.52 L� �� �� �� � ��������0.1 L��� �� �� �
 ��������1.8 L��� �� �� �� � ��������0.2 L���

��
�	&U3�_
�:;�p��K�f�.+����$���:;2���V8�)'�L�4�� �C'X�{c��kPa�202.6�� ��^:�>8��
:F�{����esq�?

�����������1�V8�wP]���?�����Q�L��8�� �wP"<��17'X�Zsq�?���
 ��������303.9 kPa ���� �� �� � ��������101.3 kPa ���� �� �
 ��������405.2 kPa � �� �� �� � ��������706.8 kPa ���

��
�
&��_���2~����wX�<�BN���Z�\�6�����V , T� ��Z�\�2�b�T<��17'X�,�PQ�;�$�K�'���.+�����+���������

� ��������)<��� �� �� �� �� � ��������3��:�U��� �� �� �
 ��������:F�
�q��� �� �� �� �� �������t�����B�
��

��
��&��#G��7'X�,�PQ��>
���<>[\�K�'���=V8��G;�$�bd~�<�@:�>8��
:F�)2�����

 ��������273 °°°°C��� �� �� �� � ��������0 °°°°C����� �� �� �� �� �� �� �
 ��������100 K������������ �� ���������� ��������°°°°C �- 273���

��
��&���:;2���V8�)'U3�_VTL���K�f�.+����$�L�5�� �
:F�;�$���C�°°°°�  27� �C'X��?��202.6 kPa�� �Zsq�?���

���������B��T<������6���o�>[���u��1�V8���
 ��������5 L������ �� �� �� � ��������0.185 L�� � �� �� �
 ��������L�
����� �� �� �� � ��������135 L� ��

��
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
��&��C'X�{c����p������Y�@:����:�EI��205 kPa� �;�$����T����L��C°°°°� 18  �����{�
3:��@:��T���t>c�;

���������
:F@:�>8��:�Ez��I����54º C � �B��T<��
:;����NG�;�$�:�Ez��)g�F����p��C'X�Zsq���P<>63��������������������������������������
��������;$��>
��u����p��=V8�-'3:�Ez� �� �� �� �� �� �� ���������������������������������������������������������������

 ��������230.36 kPa��� �� �� � ����������115 kPa� �� �� ����
� �������345 kPa� �� �� �� � �������� �460 kPa���

��
��&��^:�>8��
:F�_
�:;�p��K�f�.+����$��K�173��� ^:�>8��
:F�Z���q�#G�B����T���9��6O��b�$�����

 ��������373� �� �� �� �� � ��������100������ �� �� �

 ��������– 100���� �� �� �� � ��������>
]���
��

��&��:;2���V8�)'U3�_VTL���K�f�.+����$��mL�300�� �
:F��;�$���C�°°°°� 27� ���
:F�{0P]���esq�?��
���������^:�>8��C�°°°°� 67� ��B��T<�C'(���,�PQ�;�$��1�V8�Zsq�?���

�� �����340 mL � �� �� �� � ��������6.03 mL�� � �� ��� �
 ��������67 mL� �� �� �� � ��������2.64 mL���

��
��&����������,�:�P�����;8I�
�3�k��#G��,�K�'���_\��2�����

 ��������,�PQ�;�$�.+�)L���P�?�T ���Zsq����n �αααα�V ����
 ��������,�PQ�;�$�.+�)L���n�?�T ��Zsq������P�αααα�V ���
 ��������,�PQ�;�$�L.+�)���n�?�P ��Zsq������T�αααα�V ���
 ��������,�PQ�;�$��.+�)L���n�?�V ��Zsq�����T�αααα�P ���

��
��&��Z��{��$��eI���N = 14� ��Zsq�?��7� ���:;2���V8������6���o�>[���u�)'U3�_
�>������K�f�.+�=
���

 ��������0.25 L�  � �� �� �� � �������� 5.6 L������������ �� �
 ��������11.2 L�� � �� �� �� ����� ����22.4 L� ��

��
��&��:;2���V8�)'U3�_VTL���K�f�.+����$��L�2�� �
:F�;�$���C�°°°°� 0�� ��{�
3:�������Q��17'X�)���esq

���������I��^:�>8��
:F���C�°°°°� 273� ��wP"<��1�V8�Zsq�?���
� �������54.6 L�� � �� �� �������2.2 L��� �� � ���������474.8 L�� � ��������� ��������4 L� ��
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��
�	&�,�PQ�;�$��6�7O���^:�>8��
:F��K�'���.+�����+����L�=V8�u�-'����_���2~����)*��BN������P���	0�O����

���������������)�U����G��C'(�����
� �� ���������������� �� ������������ ����� �� ����� ������������ �� ����� �

� �
��

   �����  � ��   �����
��

 ��������� �� �� � ��������� �� �� � ��������� �� ��� �������
��

�
&����V8���\I�u��$�X�+���;8�����p��.+�Z����$�L�2��� ��:;2�C'X�{c��kPa�50.65� ��
:F���?��
��������C�°°°°� 0� ����V8���\I�u��$�X�+��>g�����?�L�4�� �F;$�Zsq�?�@:�>A���C'(���.+�o�>[���5
\�u���

���������������u����p��,k�+�����B��T<����
� ��������;$��\�*����������u����p��,k�+�F� �� � ���������\�*����������u����p��,k�+�F;$�!"\����
� �������#�*+��\�*����������u����p��,k�+�F;$�� �� � �����������\�*����������u����p��,k�+�F;$�R�:��

��
��&K�f�.+����$����:;2���V8�)'U3�������p��L �5�� ��
:F�;�$�K  �300���� sq�{�
3:�������Q��17'X�)���e��

���������I��^:�>8��
:F�K  �600���� �wP"<��1�V8�Zsq�?���
 ��������10 L�� � �� �� �� �� � ��������15 L��� �� �� �
 ��������7.5 L�� � �� �� �� �� � ��������1.82 L���

��
��&���:;2���V8�)'U3��Z������K�f�.+����$�L�4�� �
:F�;�$���C�°°°°� 27�� �-'3���?�����Q��17'X�)���esq�

����������I��1�V8�L�3�� �B��T3�����A���NG�u��^:�>8��
:F�Zsq�?���
 ��������°°°°C �225� �� �� �� �� � ��������– 48 K� �� �� �
 ��������°°°°C �- 48� ��� �� �� �� � ��������°°°°C�20.25 ���

��
��&����V8�;<;A��.+���\I��mL�400�� �C'X�{c������p��K�f�.+����$����{�X��kPa�41.32�� �;�$�

����������
:F�C�°°°°� 37� ���I�@:�>A���
:F�,-'3��?�{��Q���\z��=V8�)���esq�?�C�°°°°� 137� ��K�'���C'X�Zsq�?�
���������wP"<����

 ���������54.65 kPa� �� �� �� ��� � ���������101.3 kPa� �
 ���������66.32 kPa���� �� �� ��� � ���������41.32 kPa��
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
��&���:;2�C'X�{c�{��Q���V8���\I�u��$�X�+����p��.+����$���kPa�������� ��
:F��?�C�°°°° 0 � ���esq�?

�����������17'X�wP]���kPa�101.3�� �B��T3��^:�>8��
:F�Zsq���
 ���������°°°°C�546� �� �� �� �� � ���������°°°°C�273� �� �� �
 ���������°°°°C�380� ����� �� �� �� � ���������°°°°C�2���

��
��&��@:�P����0�0"���-f�#G���������,�:�P����.+����

 ����������
:F��C'(���,�PQ�;�$��3k�+�F;$�R+��<F>E��P���3�K�'���=V8�W����<�?�@:�>A����
 ���������u�_VTL���,��<�
�F;$���11.2 L� ��u�_
�:;�p��,��<�
�F;$�B��T3���+��11.2 L� ��;�$���+

�������������1���2�@:�>A���C'(���.+�o�>[���5
\�u�����������
 ��������u�@F�
�O��_VTL���,��<�
�F;$���11.2 L� ��u�@F�
�O��_
�:;�p��,��<�
�F;$�!�X�B��T3���+��

�������������5.6 L� �������6���o�>[���u���1���2�;�$���+��S T P ���
 ���������{��Q�:�;6+�B��T<��3k�+�F;$�u�K�'���=V8��>X�)]�8��

��
��&���G:;2����$��mol�2�� ��:;2���V8�)'U3������p��K�f�.+�L�40�� o�>��u�@:�>A���C'(���.+�����+�

���������Zsq�?�����Q�o�>[���5
\�{����esq�?�mol�1�� ��:;2���V8�)'U<�o���������p��K�f�.+����
 ��������20 L��� �� �� �� �� � ��������80 L��� �� �� �
 ��������10 L��� �� �� �� �� � ��������40 L���

��
��&���|���)+������;8�)��3�k4��~fk��=�����$��)g�F�C'(���@F�<K�b�$���K�'���.+����L�b�$�B��� 

 �����������$����=V8��@:�>A���
:F�,�PQ�R+�K�'������L�@F�<K��

 �������������$����=V8��K�'������L�,�PQ�R+�K�'���_aT3��

 ���������K�'������L��@:�>A���
:F�,�PQ�R+�K�'���B��4�BN�����$����=V8�@F�<K��

 ������������
:F�,�PQ�R+�)+�g�K�f���gFI���$����=V8��@:�>A 

��
��
��
��
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�������������������������������������� ���!"��������#��$� ����������%�����������	 � 

��
��&��K�+>�����p��+><�,�\�����y~Q�� a �?b ��?c� ��Z���P���B��4��a� ��b�$��g�0.4�� �B��4��?�_
�:;�p��.+��

�����Z���P����b� ��b�$�g �0.64�� �Z���P���B��4��?�_VTL���.+��c� ��b�$��g��0.56�� ?�_
�>������.+���esq��
������P���{X>�3�@:�>A���
:F��C'(���.+�o�>[���5
���y~*���,�\��� O = 16 �? H = 1 ��?N = 14� ��Zsq���

 ����������<��T�+�Z��3��Q~*���,�\���P�����V8  � �
 ����������Z���P���=V8��a� ��Z���P���=V8�.+�ML���b ���
 ����������Z���P���=V8��b� ��Z���P���=V8�.+�ML���c � � �
 �����������=V8�Z���P���c� ��Z���P���=V8�.+�ML���a ���

��
�	&��:;2���V8�)'U3�Z������K�f�.+����$��L �50�� ��17'X�Z�L��+;�$��kPa�50.65� ���^:�>8���C� 47°°°° � ��?

���������17'X�wP]���esq��kPa�75.975�� ��?��
:F��^:�>8�C �°°°° 27 � ���B��T<��������=V8�Zsq�?���
 ��������31.25 L� �� �� �� ������ ���19.1 L� �� �
 ��������23750 L��� ������������ �� � ��������14553.2 L���

��
�
&���:;2���V8�)'U3������p��K�f�.+����$�mL�300�� �17'X�Z�L��+;�$�kPa  �25.325�� ��^:�>8���

�������K �300�� ��1�V8�wP]���esq�?�mL �200�� ��^:�>8��?�K �400�� �B��T<��17'X�Zsq�?���
 ��������202.6 kPa� �� �� �� � ���������25.325 kPa����������� �
 ��������101.3 kPa��������� �� �� � ���������50.65 kPa���

��
��&��:;2���V8�)'U3����p��.+����$��mL�500�� ��17'X�Z�L��+;�$�kPa �25.325� ���^:�>8���
�������K�300�� ��1�V8�wP]���esq�?�L �0.35�� ��17'X��?�50.65 kPa �� ^:�>8��
:F�Zsq�?�B��T3�����

 ��������°°°°C�420� �� �� �� � ��������K�420� �� �� �
 ��������0.42 K��������������� �� �� � ��������319.2 K���

��
��&��Z��{��$��eI��C = 12  ��?O = 16�� ��G:;2����L���'U3�BN���=VA��Zsq�?�g �11�� �;�TL����Q�K�f�.+

���������Z��>�����CO2� ��B��T<������6���o�>[���u����
 ��������22.4 L� �� �� �� � ���������5.6 L�� � �� �� �
 ��������11.2 L         ��� �� � ��������44.8 L � ��

��
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�������������������������������������� ���!"��������#��$� ����������%�����������
 � 

��
��&����'U<�BN���=VA����g� 10� �Z������.+��Ne = 20� ��B��T<������6���o�>[���u���

 ��������10 L ��  �� �� �� �� � ��������11.2 L�������� � �� �
 ��������22.4 L���������� �� �� � ��������30 L ����

��
��&��:;2���V8�)'U3�_
�>������K�f�.+����$��L�24.6�� �C'X�{c�kPa �202.6�� ��
:F���C�°°°°� 27� ��?

���������esq��Z��{��$�� R = 8.31� � �B��T3�K�'���.+���������NG�u�_
�>������,k�+�F;$�Z�q�?���
 ��������1 mol�� � �� �� �� � ���������0.164 mol���� � �� �
 ��������22.22 mol����� �� �� � ���������2 mol���

��
��&����'U<�BN���=VA��g � 10� �_
�:;�p��K�f�.+��H = 1� ��B��T<������6���o�>[���u���

 ��������224 L�� �� �� �� � ��������11.2 L���������� �� �
 ��������22.4 L�������������������� �� � ���������112 L���

��
��&��@:�P����0�0"���#G���������,�:�P����.+����

 ��������o�>[���)L�{c���*O��K�'�����F��+��L����u�RP�<�#6�6A��K�'��J���
� �������o�>[���R�r�{c�K�'���.+�;8�������O����'U<�BN���=VA���G�K�'�����O��=VA�J���
� ����������6�6A��,�K�'���Z��.����m�'(���{c���*O��K�'���t������T3��
3>O�@:�>A��,�
:F����(
a�O�J�� �
 �����������6�6A��,�K�'���Z��.����
3>O��@:�>A��,�
:F���(
a�O��m�'(���{c���*O��K�'���t������T3J���

��
��&���1���L����$�g �4�� �C'X�{c��$�X�+�_
�:;�p��K�f�.+�kPa �126.625�� ���V8���\I�u��

�������L��32.8�� �{\�L��esq�?��	������R ��?1� H  =� 8��
:F�Zsq�B��T3��������@:�>���
 ��������°°°°C�250� �� �� �� � ��������°°°°C�23������������ �� �
 ��������250 K���������������� �� �� � ��������– 23 K���

��&����V8���\I�)]��L�3�� �C'X�{c�_VTL��K�f����kPa �������� �K�f����;8���>�����V8���\��R+����
����������C'X�{c�_
�>��\�kPa �60.78�� ���esq�?�Zsq���1������]����=V8����s�������Q�@:�>A���
:F�{�
���������B��T<��m��aO���NG�u�_VTL���#l����C'(�����

 ��������40.52 kPa�� �� �� �� ��������30.39   kPa   �� �� �
 ��������101.3  kPa�������� �� �� � �����������50.65   kPa���
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
�	&���1���L����$��g�8�� �Z�*�O��K�f�.+��CH4� ��+�C'X�{c�=VA����1/���\I�u��$�X��kPa��81.04�� �?��

���������
:F�;�$����K�400�� �{\�L��esq�?��	������R ��12 ,�H =  1 ,  C = �� �B��T<���\z��=V8�Zsq���
 ��������20.5 L� �� �� �� � ���������0.027 L� �� �� �
 �������� 0.43 L� ����� �� �� � ��������328 mL���

��
�
&��Z������K�f�.+����$��20���Ne� ��C'X�{c��$�X�+�kPa�75.975�� ���V8���\I�u�L��32.8�� �?�

���������3:�>8��
:F����C�°°°°� 27� ��{\�L��esq�8.31 ���R� ���B��T3�����������L�Zsq���
 ���������10 g��� �� �� �� � ����������20 g�� �� �� �
 ��������11.1 g�� �������� �� �� � ����������1 g���

��
��&���G:;2����$��mol��0.5��� .+���V8���\I�u��$�X�+�Z�
:���K�f��L��20.5��� ��3:�>8��
:F��?��

��������K�400��� �{\�L��esq��	���  ���R� ���B��T<���������NG�C'X�Zsq���
 ��������101.3  kPa ��� �� �� � ����������81.07 kPa��� �� �
 ��������50.65 kPa� ����������� �� � ����������202.6 kPa���

��
��&����V8���\I��mL�500�� 4�.+�m����b�$�B����mol �0.15�� �?�_
�:;�G��mol��0.15�� �_
�>��\��

�����������?��mol��0.2�� �Z���q�?�@:�>A���C'(���.+�����+�o�>��u�_VTL����
� �������_
�:;�p��=V8�.+�ML����\z���NG�u�_VTL���=V8J����
� ��������B��T<���\z���NG�u�_VTL���=V8��200 L� � J��
 ���������_VTL���=V8�B��T<���\z���NG�u�_
�>������=V8J���

�� �������_
�:;�p��=V8�.+�)2����\z���NG�u�_VTL���=V8J����
��

��&��.+�Z��+�m������g�4�� �?������p��.+��g��7�� ���V8���\I�u�n�X�+�_
�>������.+�L��10�� �;�$��
������������
:F�K �300�� �$��esq�?�Z��{���  He  = 4 ��?  N = 14 �?R = 8.31�� ��#l����C'(���Zsq�?
����������B��T<���\z���NG�u�������1�����
 ���������249.3 kPa� �� �� �� � ��������62.3 kPa� �� �� �
 ���������101.3 kPa� ����� �� �� � ��������124.6 kPa���

��
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��&������������>
���;8��M��<�k�,�K�'����L>A���<>[\���>q�.+���G����
� ���������_��>��TO���F�"�����V��\���\z��Z�:;
�b�$�K�'������>Q}<�BN���C'(����U�<K�'���,��<�
��Z�:;��J��
� ��������:�>8��
:F�R+��<F>E��P���3�,��<�V�����L>A���2�7����;�+�W����<�^��6�7O��J���
 ����������.+�K�'���Z���<,���T
��T+��1�V8�Z��<���;
��-']��K�'�����'U<�BN�����>
���=VA��<J���
� �����������<>�����l��U$��L>8����6�T+�m�7g�u�,��<����t>0�3J���

 

��&����L�b�$�>Q}O��C'(���@F�<K�;�$����+��Zsq�K�'���.+��� 

 ����������F�F�3�K�'���,���T
�_������P���,�q�TO�J��

 ����������,�q�TO������P��63�K�'���,���T
�_�)�J� ���

 ������������*O��t��T���.$�K�'���F��8�)6<J��

 �����������)63�K�'���,���T
�_���e�V������2J 
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

����������������������������6��D��6��D��6��D��6��D������������������
1C1C1C1CEEEE>�.�<�D����>�.�<�D����>�.�<�D����>�.�<�D����2!=��2!=��2!=��2!=��

FF FF
�����.�	�/�����.�	�/�����.�	�/�����.�	�/�����G���������G���������G���������G��������������@/(�
H��@/(�
H��@/(�
H��@/(�
H��������������������

��

��&K�'����q�*L��.g�T����&&&&�&&&�&&��q�*L�.+���F:�P���K�'��J��
��

��&��@;8�������;�����#G�=VA��9��6�&&&&�&&&�&&�&J���
��
��&��L>8�K�'���,��<�
�t>0�3��@>8��l��U$��m�7g�u��@>��T+�&&�&&�&&&&&&J���
��
��&��b�$��7'X�,�K�'���y;c��p�B��A����$����Z�:;
��>[\���e����L>A,���T
�K�'�������l��U����@>��TO��

����������N���1+�;7]��Z�:;����,�+F�"3�&&&&�&&�&&&&�&&�&J����
��
��&�C���+�����2�7A�L>����P���3�W����<�K�'���,��<��S��&&&&�&&&�&&&����
:F�R+��6�7O���3:�>8J��
��
��&��3��<���#��
���=VA��Z����*O��K�'������g�.+�)��X��;
����.���&�&&&&&�&&&&��PT���������=V0�BN��

��������K�'����NG���'U<J��
��
��&��
$�(+�;�$�����2�C'(��>Q}O�b�$��)6<��1�V8�Zsq��^:�>8��
:F�,�PQ�;�$��+�K�f�.+�@:�"�����L���

�������I�&&�&&�&&&&&�&&&J����
��
	�&�K�f�.+����$� ��3:�>8��
:F���\I�u��$�X�+������p���193 K� ��^:�>8��
:F�Z���q°°°°C  ��&&�&&�&&&&&J���
��

�&���
:F�;�$���\I�u��$�X�+�_
�:;�p��K�f�.+����$�°°°°C �- 50� ��
:F�Z���q�B��T3��6�7O���^:�>8� 

  ������
K       ��&&&&�&&�&&&&&&&J����

��
��&��W����<�K�'���.+�����+����L�=V8�Zsq��6�7O��@:�>A���
:F�,�PQ�;�$��&&�&&&&&�&�R2�����C'(���R+���

�����������1��$J����
��
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

V 

P 

��
��&�����L�����+�1�V8�_VTL���K�f�.+���100 ml�� C'X�{c���101.3 kPa�� ��esq:F�{����^:�>8��
��

������������Q�1�V8�wP]�����50 ml�� Z�q�7'X�1�B��T<�kPa���&&&&&�&&�&&&&&�&J���
 

��&���2~�������2�{\�L��eI( P1V1 )�3�K�'���.+�����+������B��T���506.6 � ���I��1�V8�-'3��esq� �
��������25 L� ��@:�>A���
:F�,�PQ�;�$�?7'X�Z�q��1��P2�� B��T<�kPa �&�&&�&&&&&�&&&�&&J���

��
��&���:;2���V8�)'U3�Z�
:���K�f�.+����$���4 L� ��C'X�{c��243.12 kPa� ���^:�>8��
:F�{����esq�?��

� �����Q���1�V8�wP]����8 L� ��wP"<��17'X�ZsqkPa��&&�&&&&&�&&&&&&J���
��

��&��B��T<���V8�Z�������2.6 L� �(���wP]���� �b�$��Z���P���R
3:��esq�?�>0P���w7��B��T+�;�$�C'����
����������B��T<����$�R2������40.52 kPa� ��wP"<���V8�Zsq�?L�&�&&�&&&&&�&&&&&���
����������
:F�-�'3��;$���>�q����@:�>A� ��

��
��&�)��6O�����P���=�>���.+������ �� �� �� �� �� �� ������������ ���

���������P���3�W����<�K�'���.+�����+����L�=V8�Z��h���T\&&&&�&�&�&&&&���
������(���R+@:�>A���
:F�,�PQ�;�$����$�R2�����C'� �� �� �� ������

��
��&���:;2���V8�)'U3�_
�>������K�f�.+����$���3 L� �B��T<��1��$�R2�����C'(���Z�L��+;�$��

���������50.65 kPa� ��B��T<��1��$�R2�����C'(���wP]�������Q��^:�>8��
:F�{����esq�?��25.325 kPa� ��Zsq���
���������wP"<��1�V8L��&�&&&&&�&&�&&&&&J���

��
��&�)��6O��)�U���u�9�P������p��C'X��� �� �� �� �� �� �� ���

�����������B��T<&�&&�&&&&&�&&&&&J�� �� ���
� �� ���

�	&�)��6O��)�U���u�9�P������p��C'X�������� �� �� �� �� ������������ ���
��������B��T<�&�&&�&&&&&�&&&&&��� �� ������������������� �� �� �����������������������

��
��

�PlK 

���G 

�PlK ���G 
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�
&�,�PQ�;�$���P���3�W����<�K�'���.+�����+����L�=V8�Zsq�?�C'(���&&&&&�&&&&��3:�>8��
:F�R+���
���������6�7O�J����

��
��&���V8�Z�������1.6 L� ���
:F�;�$�Z�
:���K�f�.+����$����273 K � ��,-'3��?�����Q�C'(���)���esq�?��

����������I�@:�>A���
:F� 323 K � �wP"<�Z���P���=V8�Zsq�?L�&�&&&&&�&&�&&&&&  J��
��

��&���:;2���V8�)'U3�Z�
:���K�f�.+����$��400 mL� ���
:F�;�$��100 °°°°C� ��)���esq�?�?�����Q��17'X
���������Zsq�;�$��1�V8�273 K �� �B��T<mL��&&&&�&&�&&&&&�&&J���

��
��&���:;2���V8�)'U3�Z������K�f�.+����$��0.8 L� ���
:F�;�$��300 K� �����Q��17'X�)���esq�?��
:F�Zsq�?���

����������1�V8�wP"����+K~���@:�>A���1200  mL� ��B��T3°°°°C��&�&&&&&�&&�&&&&&J���
��

��&�B��T3��7'X�,�PQ��>
���<>[\�K�'���=V8��G;�$��;��<�|���@:�>A���
:F�°°°°C��&�&&&&&�&&&&��J��
��

��&��@F�
�O��,��<����F;$�u��2��>��� �_
�:;�p��K�f�.+&&�&&&�&&�&&,��<����F;$��@F�
�O��������� �
u���������2�� �@:�>A���
:F��C'(���.+�o�>[���5
\�;�$�_VTL���K�f�.+�>��J���

��
��&��=V8�Zsq�?�C'(���,�PQ�;�$���*O��K�'���<��;��<>[\@:�>8��
:F�;�$��°°°°C��&&�&&&&&����K�&�&&&&&&��
��
��

��&��K�'���=V8�Zsq�?�)��6O��)�U���u��0X�O�����P\���_aT3�;�$��:�"���
������&�&&�&&&&&�&&&&��� �������� ����� �
����� �� �� �� �� �� �� �� �� �� ���������������
��

��&�C'X�{c�;<;A��.+���\I�u��$�X�+�_
�:;�p��K�f�.+����$���151.95 kPa�� ��
:F�;�$���30 °°°°C� ��?
��������esq��wP]��17'X���227.95 kPa� ��wP"3��^:�>8��
:F�Zsq�? °°°°C�&�&&&&&&��

��
��

���G 

�PlK 
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
�	&C'X�Z�L��eI��B��T<�@:����:�EI�)g�F����p����2836 kPa� ���
:F�;�$��27 °°°°C�� �)g�F�C'(���F�K��esq�?���

���������I�:�Ez���3241 kPa�� �@:�>A���
:F�Zsq�?��L>A���V��\Z��3�°°°°C�&&�&&�&&&&&&��
��

�
&��P���3�W����<�K�'���=V8�Zsq�?�@:�>A���
:F��C'(���,�PQ�;�$��&&&&&�&�&&&&�3k�+�F;$�R+��J��
��

��&�;8�������O�������O��=VA� ��:;2���V8������6���o�>[���u�)'U<�K�'���.+�L��&�&&&&&�&&&&���P<>63J��
 

��&��:;2���V8�)'U3�_VTL���K�f�.+����L���10 L�� {cC'X����202.6 kPa�� ��;�$��
:F��27 °°°°C�� 
���������esq��V8�wP]��1���20 L�� 17'X�����96 kPa�� >8��
:F�Z�q^:��Z��3��°°°°C��&&&�&&�&&&&&&&�J��

 

��&��Z�
:���K�f�.+����L�)'U3��V8��:;2���1000 ml�� C'X�{c���101.3 kPa�� ��;�$��
:F��
������25 °°°°C�� �{�a���esq��I��
:F��50 °°°°C�� {cC'X����202.6 kPa�� �wP"<��1�V8�Z�qL�&&&&&&�& J��
��

��&���:;2���V8�)'U3�Z������K�f�.+����$��2.5 L� �c�C'X�{��50.65 kPa�� ��
:F�;�$���57 °°°°C�� ��esq�?��
�������1��$�R2�����C'(���wP]���40.52 kPa ���@:�>A���
:F���27 °°°°C� �?�wP"<��������=V8�Zsq 

  ���L���&&�&&&&&�&&&   J��
��

��&��:;2���V8�)'U3�_VTL���K�f�.+����$���750 mL�� �C'X�{c��50.65 kPa��� ��
:F�;�$���
��������30 °°°°C�� ��1�V8�wP]���esq�?��500 mL�� ���1��$�R2�����C'(�����40.52 kPa�� Zsq�?��@:�>8��
:F��
�������K�'�����B��T3 °°°°C��&&�&&�&&&&&&J����

��
��&��:;2���V8�)'U3�Z������K�f�.+����$���500 mL�� �C'X�{c��303.9 kPa�� ��^:�>8��
:F�{����esq�?��

��������3�BN���=VA��Zsq�?�����Q��1��$�R2�����C'(���wP"<��+;�$�K�'���.+���������NG���'U��607.8 kPa�� �B��T<
�������L��&�&&�&&&&&�&&��

��
��&����L�����+��_
�>�����K�f�.+�)'U3��V8��:;2���550 ml�� �C'X�{c��72.94 kPa�� ��
:F�;�$���
�������0 °°°°C � ��Z���q��1���Lg��&&&&�&&&&���N = 14 ,  R = 8.31 � ��

��
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
 

��&��1���L�����p��K�f�.+����L���16 g�� ��
:F�;�$��27 °°°°C�� C'X�{c����202.6 kPa� ��B��T<��1�V8�Z�q��
L         ��&&�&&&&&&&��� ,  R = 8.31  �He = 4 ����

� 

�	&����L�����+���\�+���K�f�.+��NH3� ��1���L���68 g�� ��:;2���V8�)'U3��65.6 L� ���
:F�;�$��127 
°°°°C� �

������2�Z�q�����17'XB��T<��&&&&�&&&&�&�&�&&J��(  N = 14  ,  H = 1 ,  R = 8.31  )��
��

�
&���@F�
�O��_
�>������K�f�,k�+�F;$�u ml��500�  �@:�>8��
:F�;�$����+��°°°°C�20� �C'X����
���������202.6 kPa� �����T3&�&&�&&&&&�&�&&&&��������R = 8.31  ���

��
��&u�@F�
�O��_VTL���K�f�,��<�
�F;$���1 L � ����+�&&&&�&&&�u�;
�3�|���,��<����F;$���1 L� ���

��������@:�>A���
:F��C'(���.+�o�>[���5
\�{c���1���2�;�$�_
�:;�p��K�f�.+J���
��

��&�Z��{��$��eI���16 = O� �Zsq���8 g�� �_VTL���K�f�.+��O2� ���:;2���V8������6���o�>[���u�)'U3    � �

�������&�&&&&&�&&&&���>J�  ��
��

��&�_VTL���K�f�.+����$ ��:;2���V8�)'U3��6.15 L� ��;�$��27 °°°°C� ��C'X�{c���202.6 kPa� ��?��
��������B��T<���������NG�u�_VTL���,k�+�F;$�Z���qmol��&&�&&�&&&&&&� ���R = 8.31  ���

��
��&�_
�>������K�f����L�) �N = 14� ���:;2���V8�)'U3�|����12 L�� �C'X�{c��405.2 kPa� ���
:F���

����������300 K�� B��T3� g��&&&&�&&&&&����R = 8.31  ���
��

��&�)'U3���4 g� ��_
�:;�p��K�f�.+���>
��1��� H� ��:;2���V8������6���o�>[���uL��&&&�&&�&&&&&���
��

��&�{\�L��eI���14 = N� ��Zsq�?��14 g� �:;2���V8������6���o�>[���u�)'U3�_
�>������K�f�.+����
L      ��&&�&&&&&�&&&J���

��
��
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�����
�������������������������������������� ���!"��������#��$� ����������%������������ � 

��
��&��1���L����$���g8 � �������p��K�f�.+� He= 4 � ��C'X�{c���\I�u�@F�
�+��kPa.04 81� ���
:F���

���������°°°°C�77� ���G���\z���NG�=V8�Z���q�&�&&&&&�&&&&�����R = 8.31  ���
��

��&��1���L����$���56 g� ��_*<z��K�f�.+�28 = C2H4 � �\I�u�@F�
�+���V8�����40 L� ���
:F�;�$��
���������°°°°C�47� ���G���\z���NG�u�K�'���C'X�Z���qkPa���&�&&�&&&&&&&�����R = 8.31  ���

��
�	&��G:;2����$�)'U3�#������3�|���@:�>A���
:F���0.3  mol� ���:;2���V8�Z�*�O��K�f�.+��6.15 L� �� �

���������C'X�{c��83.066 kPa�� ��B��T3°°°°C�&�&&�&&&&&�&&� ���R = 8.31  ���
� �� �� �� �� ���

�
&��G:;2����L�)'U3���8 g� ��Z�*�O��K�f�.+��16 = CH4�� ��:;2���V8��12.3 L�� ��
:F�;�$�27 °°°°C �� ���
�����������C'X kPa��&&�&&&&&�&&& ������R = 8.31  ���

� �� �� �� ���
��&��G:;2����L��G;�$�)'U3�|���@:�>A���
:F���8 g�� ������p��K�f�.+��4 = He� ��V8��:;2����32.8 L�� ��

���������C'X�{c��151.95 kPa�� �B��T3K��&&�&&&&&�&&&� ���R = 8.31  ���
� �� � 

��&���V8���\I���5.6 L�� ���q�RX���0.05 mol� ��?�_
�>������K�f�.+��0.2 mol�� �u�_VTL���K�f�.+��
���������Z���q�?������6���o�>[��_
�>������=V8C6q��G���\z���NG�u�L �&�&&&&�&&&�&&�&&���

��
��&�m�'(���{c���*O��K�'���t����.$���6�6A��,�K�'���;�c�&&&�&&�&&�&&�@:�>A��,�
:F���(
a�O�J����
��

��&���6�6A��,�K�'����Z��.���.+��>�63m�'(���{c���*O��K�'���t�����(
a�O���@:�>A��,�
:F�&&&&&�&&�&��
��

��&�C�g�;�$���1 L� ��.+�K�f�7'X�BN��������p����60.78 kPa� �R+��1 L� ��.+�K�f��7'X�BN���Z������ �
�������40.52 kPa� ����V8���\I�u��1 L� ��#l����C'(���Zsq�?�@:�>A���
:F�5
\�;�$���K�'���NG�u������p
�����B��T<�m��aO�kPa�&&�&&�&&&�&&��B��T<�m��a����#�����C'(���kPa��&&&&&�&�&&&&J���
��&���V8���\I�)]����2 L� ����K�f�����7'X�Z�����81.04 kPa� ����V8���\I�R+��4 L� ��K�f������Z�
:�

����������7'X��60.78 kPa� �?���]����=V8����I�R+�?�����Q�@:�>A���
:F�{����esq�?�Zsq�Z�
:���#l����C'(��
��������B��T<�m��aO���NG�ukPa�&�&&�&&&&&&&��
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��

����������������������������I1�J�I1�J�I1�J�I1�J�����������������
�K�2A��2���K�2A��2���K�2A��2���K�2A��2��������5�������H��5�������H��5�������H��5�������H

LL LL
��:�:B���!���:�:B���!���:�:B���!���:�:B���!�L LL LL LL L��!�����;������,�-���&��!�����;������,�-���&��!�����;������,�-���&��!�����;������,�-���&������������

��&�)�d�K�'���Ng�<��=V8�����B��A����\z�J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&�:�U�\k��b�$�����$�@:;2�,�K�'���J��
�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��
��&�����B��A����\z��Z�:;
�b�$�C'X�K�'��J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&&&&�&&�&&&&&�&&�&&&&&�&��

��&�@:�>A���
:F����$����=V8�,�PQ�;�$�����*���K�'���.+�����+����L�,��<�����L>A���2�7���C���+�b6P<�J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&R
3>3��F:�P������p��)�L���q�.g�T������p��)�L�J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&���q�9�P������p��_aT3�=�<�b�$����I�F�7�+�Rq>���J��
&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&

&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��
��&�@�P�������]�b�$�C'(����:�>���k��;�$�e�e>���@�P$�)g�F�C'(���)6<�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&��

	�&�,�:��T���u���L>����<�¡�b�$�)��3�|�����l��p��;l������u�,�K�'����;a�T3�J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��
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�&�C'X�F�F�<���L�.+�����+�����B��A����$����Z�:;
�b�$�K�'����)��63�;�$=V8���@:�>8��
:F�;�$���$�������QJ��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&�C'X�F�F�<��B��A����$����Z�:;
�b�$�K�'������;�$�K�'������L�@F�<K��T
\���$����u��@:�>8��
:F�;�$����QJ��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&��C'X�F�F�<.+�����+����L��Rq:�;�$����B��A����$����Z�:;
�b�$�K�'����@:�>A���
:FR+=V8�,�PQ�����$���J����
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&&&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&��
��&��f:�q�{\�L�����¢8�e�e>���W�$���>8I��;$���
��J��

&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&��x3�|���.+�)2��S�
�]����p��.+�������,�:��T���,�:�EI���x3��d�����S��J���
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&�&&�&&&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&��
��&�
~*���u���X��;�$�9�P������p��.+����L����Z�����=V8�)6<�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&��

��&�BN���=VA��3��.+�����+����L���'UC'X�;�$�K�f�B�kPa���202.6� ���'U3�BN���=VA��!�X��������5
\��
��������C'X�;�$kPa���405.2�� ��@:�>A���
:F�,�PQ��>
�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&��

��&4�Z�����=V8��$�B��b��� 11� 
�>�Z��>����;�TL����Q�K�f�.+����CO2����44� �B��T<��B��4�Z�����=V8���
��������$b���5� �
�>�Z������K�f�.+����Ne���20� �������6���o�>[���;�$J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&&&&�&�&&&&&�&&�&&&&&�&&�&&&�&&&&&�&&�&&&&&�&&�&&&&&�&&��
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��&�t��T���.$���6�6A��,�K�'���;�c���*O���]�g�u��
:F�R
3>O��C'(�����(
a�O��@:�>A��J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&�&&�&&&&&�&&�&&&&&�&&�&&&&��

�	&�t�����>�6<@:�>A���
:F��j
a�O��C'(���;�$���*O��K�'���t����.+�#6�6A��K�'�������
3>O�J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&&�&&�&&&&&�&&�&&&&&�&&�&&��
�
&�.<;<;U���;<M�����C'(����K�'�������I�.����J��
&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&

&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&�&&�&&&&&�&&�&&&&&�&&�&&&&��
���&���(
a�O��@:�>A��,�
:F����������m�'(���;�$������+���*O��t��T���.$�K�'���o�>£��Z��<J��

�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&
&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&�&&&&&�&&�&&&&&�&&�&&&&&�&& 

���&��>0P���w7��.$����
3:�����L�_VTL���#l����C'(���)6<J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
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�������������������������������������� ���!"��������#��$� ����������%������������ � 

��������������������������������MN���MN���MN���MN�������������������2O��%��2P���������2O��%��2P���������2O��%��2P���������2O��%��2P�������������������������
��������
��&��:;2���V8�)'U3�Z������K�f�.+����$��L�10�� ��
:F�;�$�C�o� 40� �C'X�{c��kPa�101.3�� ?��
������K�'���.+���������NG�=V8�wP"����K~���C'(����G���q��4 L� ��@:�>A��,�PQ�R+��

������������������������������������������������������������������������

��&��:;2���V8�)'U3������p��K�f�.+����$��L�4�� ��
:F�;�$�C�°°°°�27�� ��C'X�{c�kPa�101.3� �� �
������1��$�R2�����C'(���wP"<��+;�$�K�'���.+���������NG�=V8��G���q�?��405.2 kPa�� @:�>A���
:F�,�PQ�R+J���

����������������������������������������������������������������������
��&����V8�Z������L�3�� ��
:F�;�$������p��K�'�����Y�C¤��  27� �C'X�{c��121.56 kPa�� x3�?�u�R
3-��t>��

�������wP]��¢8��7'X��1�q�)2��76\��I�)]����8����T���kPa�60.78�� ��I���V8�F;��q�L�5�� �?��
������
:F�#G���qn�
3:k���NG�;�$�Z���P����NG��p��>��<�|����<���T���@:�>A���J���

����������������������������������������������������������������
��&��1���L�_
�>������K�f�.+����$��g �10�� ��:;2���V8�)'U3�L�12�� ��
:F�;�$��C°°°°30 � �?����
:F�WT8�

�������+K~�����<����T���@:�>A��K�'���.+���������NG�=V8�wP"�����15 L� �C'(���,�PQ�;�$��
����������������������������������������������������������������

��&��:;2���V8�)'U3�Z��>����;�TL����Q�K�f�.+����$��L�20�� ��^:�>8��
:F�{\�L��+;�$�C�°°°°�37�� ?��
�����wP"3��+;�$�K�'���.+���������NG�=V8�WT8����^:�>8��
:F��57 °°°°C � �C'(���,�PQ�;�$J���

����������������������������������������������������������������
��&��:;2���V8�)'U3�:������K�f�.+����$��L �18�� ��
:F�;�$�C°°°°��18�� �C'X�{c��kPa �101.3�� ?��

������
:F�;�$�K�'���.+���������NG�=V8�WT8����273 K� ��C'X�{c���50.65 kPa �J� 

�������������������������������������������������������������� ��
��&���:;2���V8�)'U3�_VTL���K�f�.+����$�L�6�� ��
:F�;�$�C �°°°°�47�� �C'X�{c��kPa �126.6� ��
����������NG�=V8�WT8��K�'���.+o�>[���;�$������6���J���

����������������������������������������������������������������
	�&��G:;2����L���'U3�BN���=VA��WT8����mol�0.5�� ��
:F�;�$���\I�u��$�X�+�?�_
�>������K�f�.+��

�������C�°°°°� 27� �C'X�{c��kPa�202.6� � ���Z������$��R = 8.31 ���
��
��
��
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�&��:;2���V8�)'U3��+�K�f�.+����$��L� 2� ��
:F�;�$�C °°°°� 27� �C'X�{c��kPa �10.13�� ��esq�?���

���������B��T3���������NG����L�Z��{��$�g �0.26 �� �Z����R = 8.31 ��K�'����Np����<�����������WT8�q�?���
����������������������������������������������������������������

��&��1���L�_VTL���K�f�.+����$��g �8�� V8�wP"����K~���C'(���WT8��?��1���6.15 L� ���
:F�;�$ 

��������27 °°°°C � ��Z�����$��R = 8.31 �?����O���16 �� ����
����������������������������������������������������������������

��&��
:F�;�$���\I�u��$�X�+������p��K�f�.+�����+����L��o
C  � 30� �C'X�{c��kPa �121.56�� ��G���q�?����

���������17'X��
:F��I�{�a���eI��°°°°C �60� ���1�V8�,�PQ�R+J��
����������������������������������������������������������������

��&�.+����$�_VTL���K�f��1�V8��mL�1500�� ��
:F�;�$��C¤�  20� C'X�{c��kPa �60.78 � �WT8����
��–��^:�>8��
:F�wP"3��+;�$��������=V8��°C � 53� ��17'X���50.65 kPa ���

��–��1�V8�wP"<��+;�$��������C'X���1200 mL� ���^:�>8��
:F��°C � 0� ��
�¥
–��1�V8�wP"<��+;�$��������@:�>8��
:F����1.75 L� ���17'X���81 kPa ����

�F–�,k�+�F;$�_VTL�����������NG�u����R = 8.31���  

��������������������������������������������������������������
��&��:;2���V8�)'U3������p��K�f�.+����$��L�410�� ��
:F�;�$�C ¤�  27� �C'X�{c���91 kPa �� ��
����������7O�����

��–���������NG�u������p��,k�+�F;$���T8���R = 8.31 ���
��–�C'(���wP]���eI������p��=V8���T8��kPa �60.78 �� �@:�>A���
:F�,�PQ�R+���

�¥
–T8����V8�wP]���eI������p��C'X�����615 L� �@:�>A���
:F�,�PQ�R+��
�F–��3:�>8��
:F�{0P]���eI������p��=V8���T8��°C � 47�� ��C'(���,�PQ�R+��

�¥G–������p��=V8��G;�$�wP"<�|����<����T���@:�>A���
:F���T8���600 L� �C'(���,�PQ�R+��
��–8��
:F�{0P]���eI������p��C'X���T8���3:�>�°C � 227�� ��V8�,�PQ�R+��
��&������p��C'X��G;�$�wP"<�|���@:�>A���
:F���T8�� 136 kPa �� ��V8�,�PQ�R+��

�B–�K�'���=V8��;�$�wP"<�BN���C'(�����T8���580 L� ���
:F�;�$�°C � 47 ��
��
��
��
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��
��&���V8���\I��L�2�� �C'X�{c�_
�:;�G�K�f����kPa �40.52� ��?����V8�>g��L�6�� �_
�>��\�K�f�����

��������C'X�{c�kPa �40.52�� �����<��T�+������Q���^:�>8��
:F�{����esq�?���\I�u�.<K�'���RX��>g����V8��
�������8 L �WT8��?���;<;�����\z��u�.<K�'���#�����C'(��J��

����������������������������������������������������������������
��

��&K���\I����V8�#
�
�L�2�� �C'X�{c�_
�:;�G�K�f����kPa �101.3�� ���V8�>g����\I��?�L�8�� �K�f�����
���������C'X�{c�_
�>��\�kPa �151.95� ��)�]�3�;�$�.<K�'���#�����C'(���WT8��?z�\��,�PQ�;�$���+�.<
���������@:�>A���
:F����1������]����=V8����I�R+J� ���

����������������������������������������������������������������
��&���V8��>
+���\I��mL�250�� �:�;6¦�����L�,F�K�g �0.42�� �K�'�����+�;�$�+��
:F�;�$��o

C �12� ����
��������C'X�{c���kPa�99.97�� �Z������$�K�'����Np����<�����������WT8���R = 8.31 ���

�������������������������������������������������������������
��&���V8���\I�u�@F�
�O��_
�>������K�f����L��+��mL��1500�� �C'X�{c��kPa �96.25�� �
:F�;�$���

��������o
 C �0�� .���( N = 14���R = 8.31 �J���

��������������������������������������������������������������
�	&�1/�K�f�.+�����+����L���:;2���V8�)'U3���mL�500�� ��
:F�;�$��o

C�27� ���C'X�{c���
��������kPa�97.3�� �B��T3��1���L�{\�L��esq��g�0.331�� K�'����Np����<�����������#G���q�?J����R = 8.31 ���

��������������������������������������������������������������
�
&�)'U3���1/�K�f�.+�����+����L���:;2���V8�L��1� ��
:F�;�$��o

C�20� ���C'X�{c��kPa �101.3�� �?��
���������1�V8�wP"����K~���C'(���WT8���0.5 L� ���
:F�;�$��40 °°°°C  ���

�������������������������������������������������������������
��&��Q;4�BN���C'(���WT8����mol�0.9�� u�F�
�O��_
�>������K�f�.+���V8���\I��L�2.7�� ��
:F�;�$��

�������o
 C  �35� J�����)�( R = 8.31 ���

�������������������������������������������������������������
��&��:;2���V8�)'U3�_VTL���K�f�.+�����+����L��L�2�� �C'X�{c�kPa �151.95 �� ��+;�$��1�V8��G���q��

������������17'X�wP"<��303.9 kPa� �@:�>A���
:F�,�PQ�R+J���
��
��
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���������K�'����Np����<����������)��( R = 8.31��
��������������������������������������������������������������

��&�,�K�f�.+�m�������V8���\I�u�n�X�+�Z�
:���������p���Z������L�4�� ��esq�?�����+�@:�>8��
:F�;�$��
����#G�W�3>����b�$���\z���NG�u�,�K�'����Np���l����m�'(���Z��{��$�kPa  ��60.78� �?��kPa  ��40.52� ��?���
�����kPa  ��20.26� ����\z���NG�u�,�K�'���#�����C'(����G���q.��

��������������������������������������������������������������
��&�.+�Z��+�m��aO�#�����C'(���WT8���g�4�� �?������G�g�4�� �?�_
�:;�G��g�8�� �u�n�X�+�_VTL���

����������V8���\I�L�20�� �;�$�o
C �20� ���Z������$��O  = 16  ��? H  = 1  ��?He = 4 ��?�R =  8.31� ��

��������������������������������������������������������������
��&���V8���\I��L�2�� �C'X�{c������G�K�f�����kPa�81�� ���V8�>g���?�L�1.2�� ��_VTL��K�f�����

��������C'X�{c�kPa �162�� ���V8�;<;
���\I��I�.<K�'���)6\����esq�?�L�4�� ��NG�)g�F�C'(���WT8�q�?���
�������\z��@:�>A���
:F�,�PQ�;�$���J��

��������������������������������������������������������������
��&�b�$�B��c��\��7����.<�c��G;�$�.����@:�>8��
:F�b"2���+�10 mo
�_VTL���K�f�.+��( O = 16 )�

�����������1�V820 L ���\��7�����NG�����0�3�C'X�b"2��Z�L��eI���1350  kPa�R= 8.31 )      � ��
��������������������������������������������������������������

��&�I���V8���\10 L�@:�>8��
:F�;�$��300 K�b�$�B��4��0.6 mo
 ���_
�>������K�f�.+�0.4 mo
�K�f�.+�
����������\z���NG�)g�F�#�����C'(���WT8��_
�:;�p��JR= 8.31 ) � ��
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C
2 (g)+    2 NO (g)                               2 NOC
(g)          � 
.+��)L���L>3�Z��Z��3k��.$�;
���esq8��NO�C�C
2 �C�NOC
�9�� �

��G���0.1  M�C�0.2  M�C�0.32  M��9�W�3>����b�$�JZ��3k��{��Q����2�WT8�q��DKeqE����)$�
�����NpJ��

��������������������������������������������������������������������������������
º�&��.+�h<�+�)gF�8�H2�e�NO��9��������$��u8��2L��9;�$�����+�@:�>8��
:F�y;8�Z��3k��������������

2NO (g)   +   2H2 (g)                      N2 (g)    +    2H2O (g)                           ��
����b�$�B��4�m��aO��Z��;
��Z��3k��;�$���D0.02 mo
E��BK�f�.+��DH2�C�NOE����?�D0.15 mo
E���.+� �
�������K�f���8�8�8�8N29�9�9�9��?��D0.3 mo
E�����O��:�·�.+J��Z��3k��{��Q������2�WT8����¯½¾J� ���

��������������������������������������������������������������������������������
��&���\�*�O��>(4��DCH3OHE��BK�f�)$�
����$��"���u�CO �C�H2 ���
:F�;�$��500 K��)$�
����WT8���Z��O���

��������������     ������   CH3OH(g)   ���                      �CO(g)��F���2 H2(g)��

b�$�B��4�m��aO��Z��Z��3k��;�$�;
���esq8  �0.0406 mo
���9 ��\�*�+�e��8��0.302 mo
��� _
�:;�G���e���

8�0.170 mo
� 9�Z��>����;�TL�����B��T<���\z��=V8�Z����8�2 L�9�a�Z��3k��{��Q�WT8���DKeqE����
��������������������������������������������������������������������������������

��&��q>'���@:�>8��
:F�u���O��:�·�)0�<�25 ºC��������Z��O��)$�
�����6PE����
2 H2O(g)                       2 H2(g)     +   O2(g)                                                      �                

��
�����Np�Z��3k��{��Q����2�{\�L��esq�Keq��G1.1 × 10
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��&�������Z��O����[������������2 NOBr(g)                    2 NO(g)       +    Br2(g)� �
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¿�&�������Z��3z��y;8�¢8�������t>x3����O��u���\�+���K�f�.+����L�{P<eÀ���� �
NH3(aq)  +  H2O(
)                       NH4

+
(aq)   +    OH 

–
(aq)                     � �

\�+����;�TL�:;�p��Z��\��.+�)L���L>3�Z��;
��Z��3z��;�$����B��T<�������u�����0.002 M��?0.016 M�� ��
�W�3>����b�$����J�Z��3z��{��Q����2���T8����7O����Keq�J� ��

��������������������������������������������������������������
Á�&��Z��3z��{��Q����2�Z��{��$��eI��Keq�� �������)$�
����� �

CaSO4 (S)                  Ca
2+

 (aq)   +    SO4
2-

 (aq)                                   � �
������B��T3��2.4 x 10-5��J� �Z��3z��;�$�������u�Z�<��)L���L>3��G���qJ��
��

��������������������������������������������������������������
Â�&��������Z��3z��y;8�¢8���O��u���+:�
���j�A������t>x3���

HCOOH(aq)  +  H2O(
)                       HCOO 
-
(aq)   +    H3O

+
(aq)              � �

������B��T<�Z��3z��;�$�������u����\�:;�p��Z��3�L���L>3�Z��;
���esq��4.2 x 10 
-3

 M��� ���Z��3z��{��Q����2�
������KC�� �B��T3��1.764 x 10 -4��J� ��+:�
���j¡���L>3���T8sq�Z��3z��;�$�J��
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PC
3(g)     +      C
2(g)   �����������������������  120  kJ����FPC
5(g)��

���������,k�A��u���

��&�Rq:��
:F�8�@:�>�)$�
���J���
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��&��u�O����[�����������Z�����     �113 kJ�2 NO(g)   +   O2(g)                       2 NO2(g)   +��

�������b�$�#�<��Y�)L�-Q�3�wX��D��<�BN�����Hk����I��Z��3k��RX�+���
���&�_VTL�����L>3�)��63���J��

�����������������������������������������������������������������������

���&I����.+�;<�O���q�XNO2J���
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�¥
&���$����=V8�)��63�������J��
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�F&��.+�;<�O���q�XI��NOJ���
�����������������������������������������������������������������������

�¥G&�C'(���)��63��J��
�����������������������������������������������������������������������

��&�@:�>A���
:F�j
g��J��
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�K&�@�
��@F�+��q�XI���
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��&�����������v(���0��,�&�'Q�Z�����Wn�%����w
����(�	���'R����������v(���0��,�&�'Q�Z�����Wn�%����w
����(�	���'R����������v(���0��,�&�'Q�Z�����Wn�%����w
����(�	���'R����������v(���0��,�&�'Q�Z�����Wn�%����w
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Fe3O4(s)    +    4H2(g)   +   Heat                         3Fe(s)    +    4H2O(g)                                       
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+�J��� �� �� �� �����&&&&&�&&�&&& ���
���
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�:;�G���;8��.<>"�$�b�$�B��c���¡�J���� �����&&&&&�&&�&&& ���
��

��&�>"�$��_VTL����_
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������������6�\k��,���
���.+�B��qJ� �� �� �� �� �� �� �����&&&&&�&&�&&& ���

��
��&��Z��\��«��\z���+�#�<�
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��&�����\�:;�p��Z��3�L���L>3���q����T�<�BN��������H3O
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-J�� �� �

� �� �� �� �� �� �� �� �� �� �� �����&&&&&�&&�&&& ���

�	&�����\�:;�p��,�\��3�L���L>3���q�Z��<�BN��������H3O
+����;�TL�:;�p��,�\��\����L>3�.+�MLOH

-J�� �
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�
&��;�TL�:;�p��,�\��\����L>3���q�Z��<�BN��������OH
-�������\�:;�p��,�\��3�L���L>3�.+�MLH3O

+J���� �
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+�B��T<��1 × 10
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-�B��T<��1 × 10

-7
 M�;�$�25ºCJ�� �� �

� �� �� �� �� �� �� �� �� �� �� ����&&&&�&&�&&&& ���

��&�=�<:�f�����P��T������6������\�:;�p��Z��3�L���L>���B>U����H3O
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� �� �� �� �� �� �� �� �� �� �� ����&&&&�&&�&&&& ���
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��&��>1[<�BN���Z�������_
�:;�p��9���Z��<��+;�$�#(�A��)��;������0�����ML.+�����<�B��TpKHIn +1 J�

� �� �� �� �� �� �� �� �� �� �� ����&&&&�&&�&&&& ���

��&��>1[<�BN���Z��������_
�:;�p��9���Z��<��+;�$�#(�A��)��;�������0����)2��.+���<B��T�pKHIn -1 J�

� �� �� �� �� �� �� �� �� �� �� ����&&&&�&&�&&&& ���

��&��>1[<�BN���Z�������.<��O���������L>3�Z��<��+;�$�#(�A��)��;����)��;��������L>3�B��T<���B���
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:;�p��Z��3�L���H

+� J� �� ����&&�&&&& ���

��&�9����G:��@;$�2���
�3���;�TL�:;�p��Z�<����L>3�.+�;<�3��OH
-� �l�O��������u#J� ����&&�&&&& ���

��&��.+:�"2��G�;$��6������¡���9����G:��!<>�3���;$;<:�����#(�A��t��T���-T
3�#�$��3:;2��
������B;$�6���t��T�������\�+��,�������<F�"����J� �� �� �� �� �� ����&&�&&&& ���

��&�������)$�
����u�� NH3(aq)    +    HC
(g)                      NH4
+

(aq)  +   C
 - (aq)          

���������\�+����6q�>+�@;$�6L����\�+���Z��3�L���T<J � �� �� �� �� �� ����&&�&&&& ���

��&�������)$�
����u��������NH3(aq)    +    H2O(
)                       NH4
+

(aq)  +    OH
-
 (aq)��

�������#G��6q�>�O��«��K�������\�+�������\�+���Z��3�L�%%p��Z�<�����O�;�TL�:;�J�� �� ����&&�&&&& ���

��&�������)$�
����u�� H2O (aq)   +   HC
(g)                       H3O
+

(aq)  +    C
 -
 (aq)     

�������A��6q�>+�@;$�6L�;<:������Z��\����T<�j���HC
 �J�� �� �� �� �� ����&&�&&&& ���

��&�j�A��6q�>O��@;$�6������HSO4
-�� �#G�SO4

2-
 J� �� �� �� �� �� ����&&�&&&& ���

	�&��j�A����q�>O�\�;�TL�:;�p��Z���� OH 
-� ��G�H2O  �J�� �� �� �� ����&&�&&&& ���


�&�����������F��O����������HPO4
2-

(aq)   +   H2O(
)                      PO4
3-

(aq)   +  H3O
+

(aq)��
������<:�
��
���j�A���\�*���.<�������8>+�)*©�J� �� �� �� �� �� ����&&�&&&& ���

��&��T3�|���F��O��\�>����1
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��&�B>g��@F�+�R+��1�$�
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��&���(
���Z��3�L�Z�L��eI��Ag
+ ��.���q��7��:�.<��3��,�\�>���k��.+�«�K���T�L��b�$�@:;6������� �

����I����5<�����1
+�WT8��(¡��:�P�$J� �� �� �� �� �� �� ����&&�&&&& ���
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����u� H - CN       �   � � +   :CN
-�     H

+
 ��T<�;�\��T���Z��\�� �

�;�T\�>��j�0L������&�B:���J� �� �� �� �� �� �� �� ����&&�&&&& ������
� �� �� �� �� �� �� �� �� �� �� �� ���

��&�������)$�
����u���H3N: +  H
+    

               NH4
+
 5<���j�0L���\�+�����T3������J�����&&�&&&& ���

��&�������)$�
����u���������H3N:     +      BF3                            [ H3N : BF3 ] � ���
�������5<���@;$�6L���\�+�����T3�������5<���j�0L�Z�:�P���;<:��q����Q���T<J� �� ����&&�&&&& ���

��&��|���@F�O�.<��3������u��#l�O��x3�_
�:;�p��Z��3�L�#7�3�\�>��j¡�#�TT;�– �B:��J��������&&&�&&& ��
� �� �� �� �� �� �� �� �� ���

��&����\�:;�p��Z�<����L>3���H3O
+� ��.<�3�.+�h3������H2SO4� ��.<�3�.+�h3��������L>3�.+�)2���HSO4

-J� �� �
���������� �� �� �� �� �� �� �� �� �� �� ����&&�&&&& ���

�	&��<:�
��
���j¡�.<��<���H3PO4� �~Q�#�$)8�>+�y��J�� �� �� �� ����&&�&&&& ���
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�
&��{��Q��<:�
��
���j�A��*��*�����8>O��.<�3�.+�)2�������\�*�����8>O��.<�3�{��QJ� �� ����&&�&&&& ���

��&��1�<�3��
:F�Z��3�|�����¡���#G�?��
��(�����¡����(
a�+��l�O��)������u�J� �� ����&&�&&&& ���

��&�#�$��
��(�����¡���)�����B��c�.<�����.+��H�����,�\�<���R+�.<��O��-f�j�A��,��<�
�J��
����������� �� �� �� �� �� �� �� �� �� �� ����&&�&&&& ���

��&�#�$��<:��L�:;�p��j�A�#l�O��������B��4��\��3�L�,p�����\�:;���H3O
+� ���?�,�\��\�� �

��������;<:������Cl
- ��C6qJ� �� �� �� �� �� �� �� �� ����&&�&&&& ���

��&�j�A�#l�O��������B��4��#�$���������\��3�L�,p�����\�:;���H3O
+� ���?�,�\��\�� �

����������,������CH3COO 
-� �C6q�J�� �� �� �� �� �� �� ����&&�&&&& ������

��&�.+���L>�����<��T�O��)��������NaOH ��?���NH3�� ��.+���L>����5
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��&��)�����;$��6��>¡���Z������I���2:����5�U���n�P3��2:����c������]�5��+��p�J�� ����&&�&&&& ���

��&�#G��<:������j�A���l���������'�"�����HC
 �J�� �� �� �� �� ����&&�&&&& ���

��&K�:��L�P�p��j�A���l���������'�"������� HC
O� J� �� �� �� �� ����&&�&&&& ���

��&�j�A���l���������'�"���K��<M����#G���H2SO4 �J�� �� �� �� �� ����&&�&&&& ���
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:F�5
\�;�$J�� �� �� �� �� �� ����&&�&&&& � 
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-7� �����O��.<�3�{��Q�Zsq��
:;����NG�;�$B��T<���2.89 × 10
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��&�{\�L��eI�Ka�B��T3���������j�A���1.8 × 10
-5�� B��T3�K�+�>��P�p��j�A��?���2 × 10

-9� ���
��������2����G���������j¡�ZsqJ� �� �� �� �� �� �� �� ����&&�&&&& � 

��&�L��eI��{\KaB��T3���������j�A����1.8 × 10
-5�� B��T3����+:�
���j�A��?���1.8 × 10

-4�� ��

��������������j¡������_
�:;�p��9k��.+�ML��Z��<���+:�
���j¡������	�
�:;�p��9k��Zsq���
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&�j�0L���������,�PL>O����2������H3PO4  ,  H2PO4
-
 ,  HPO4
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 �������5�U���n�P3��2:��>�c� �� �� ���

 ������  �nek�=�E��p��

 ������  ��<��6����<��
���R+�)$�
�3�kJ������� �� �� ���

 ������ ��u�.<��<�_
�:;�G�b�$�B��c�,�PL>+�����J��
��
��&���.�����������,�PL>O��;8I��9����G:����1
+�WT8��(¡���:�P�$���

 �������NH3���� �� �� �� � ��������CH4��

�� ������LiH     �� ������H2S��������
��������
��&��;�T\�>����1
+�WT8�j�A��������)$�
����u�B:������

���������������������NH4
+
  +  H2O                    H3O

+
  + NH3 ����G���

 ��������  NH3�� �� �� �� � �������H3O
+

 

 ��������H2O     �� ������NH4
+��

 

��&��
�K�Z��<�k���������«��Kk��;8S�6q�>�+�S��;�T\�>����1
+�WT8�&���;$��6������¡���B:������

 ��������NH3�C�NH4
+�� �� �� � ��������NaOH�C�OH

-
 

 ��������  H2OC�OH
-��    ��������   HS

-8�H2S��

 

��&�u�������)$�
����K��               HF(g)    +     H2O(
)                          H3O
+

(aq)   +   F
-
(aq)                

 �������G��q�>O��j�A���  ��

 ��������HF�� �� ��� �� �� � ��������H3O
+�� �� ����

 ��������H2O��� �� �� �� � ����������F
-��

��
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��&������6q�>O��@;$�6�����l���������'�"����#G������
������� ��OH

-� �� �� �� �� �� ������ ���O
2-� ���

������� ��H3O
+��� �� �� �� �� ������ ���OH��

��

��&�������)$�
����u���HC
(aq)    +    H2O(
)                                    H3O
+

(aq)    +    C
 -
(aq)       ��

������� ���M��<3�L�������6q�>+��(¡����\�:;�p��Z��� �J��
������� ���<���\�:;�p��Z��3�����6q�>+��(¡���O��M�J���
������� ���M��<HC
;<:������Z�<���6q�>+�@;$�2�J�� ���
������� ����6q�>+�@;$�2�;<:������Z�<��M��<Z��3������\�:;�p��J���
��

	�&\�>��!<>�3�WT8��(¡�M��<�k���������n��\���;8��T�;�–��G��?�B:�������
������� ��Ag

+� �� �� �� �� �� ������� �� H2O �����
������� ��NH4

+��� �� �� �� �� ������ ���HSO4
-��

��


�&�������)$�
����u�������Ag
+
    +    2 : NH3                             [ Ag( :NH3 ) 2 ]

 +��

� �������5<���j¡���\�+���M��3� �� ���
� ���������5<���j¡��(
���Z��3�L�M��<��

� ������5<���@;$�2��(
���Z��3�L�M��<�����
� ����������\�<���7��>����\�+���R+��(
���Z��3�L�CP3><��

��

��&�������n��\���;8����5<�����1
+�WT8��(¡�M��<�C6q������

 ��������BF3���� �� �� �� � ��������H2O 

 �������KOH      ��������NH4C
��

��

��&�Z�3�>����7$I�#�$�@:;6����p�|���@F�O����H
+� �O�#�T3�?�B>g��@F����

������� \�>��j¡�T�;�&B:������ �� �� ������5<���j¡��
� ������\�>��@;$�2�T�;�–B:������ �� �� ������9����G:��@;$�2��
��
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<S�� �� ���

 ��������\�3�>��)P6�T<S�� 

 �������
�K�#7�<S��,�\�>���k��.+�@>A�    

 �������
�K�)P6�T<S�.+��,�\�>���k��@>A���
��

��&�@:�P�����0�0"���#G���������,�:�P����.+����
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������ ���\�>��j¡T��;�&�#�$�@:;6������B:�����P6��I�Z�3�>���>*L������
������ ���\�>��@;$�2T�;���#�$�@:;6����p�B:�����7$I�>*L�����Z�3�>����
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��&����G���������,�PL>O��_��.+�Z�3�M���#Q~*���j�A����

 ���������������������NH3�� �� �� � ��������������������H2SO3��

 ��������H3PO4�������������� �� �� � �������������A
(OH)3���

��

��&��WL>O��'�"������BN����HBrO2����b�T<���

 ������  ��+�M���j¡��� �� �� � ������  ��K�+�M���j¡��
 ������  ��+�>���P�p��j¡� �� �� � ������  ��+�>��-P���j¡�����

 

��&���'�"������BN���WL>O���H2CO3����b�T<���

 ������  K�\��>����j¡��� �� �� � ������ �:;�p��j¡��\��>L����

 ������  ��>����j¡��\�� �� �� � ������  ,�\��>�������

�� 

��&��'�"������BN���WL>O���HC
O4����b�T<���

 ������  �<:������j¡�� �� �� � ������    ��K�:��L�P�p��j¡��
 ������  ��<:��L-P���j¡� �� �� � ������  ��K�:������j¡��
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 ������  ��H3PO3� �� �� �� � ������  ��H3PO4��

 ������  �H3PO2� �� �� �� � ������  HPO3    ��
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�
&�����������¡���;8���P7�3�k������������T�����6<>E����$����

����������j¡�����:;�G�����<�L>O��@:N���=������<:N����$��Æ��������� ��< ��G��?�����
������ ���HCN��� �� �� �� �� ������ ���H2S� ���
������ ���HC
O� �� �� �� �� ������ ���HC
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��&����\:�;�p��Z��3�L���L>3���q�Z��<�BN����������G��F���O��������H3O
+����

 ���������B��T<��1 x 10
-5

 M� ��;�$25°°°° C������

 �������;�TL�:;�p��Z��\����L>3�B��T<���OH
-���

 ��������;�TL�:;�p��Z��\����L>3�.+�ML��OH
-�� �� �� �� �� ���

 �������TL�:;�p��Z��\����L>3�.+�)2�;����OH
-��

��������
��&�.<������+�3�M��3���������F��O�������
������� ���l�O��)������u@;8���@F�+��;$�#G��?��1�+����

� �������NH3� �� �� �� �� � �������HCl��

� �������NaOH� �� �� �� � �������HNO3��

��

��&�?��<:�
��
���j¡�.<�3�)8�>+�)*©���������,kF��O��@;8�����F��+��;$�#G��?��1�+����
�� ����� H3PO4(aq)  +    H2O(
)       →→→→   H2PO3

-
 (aq)    +    H3O

+
 (aq)           ��

� �������H3PO4(aq)  +    H2O(
)       →→→→    H2PO4
-
 (aq)    +    H3O

+
 (aq)          ��

� ����������������H2PO4
-
 (aq) +    H2O(
)       →→→→     HPO4

2-
 (aq)    +    H3O

+
 (aq)��

� �������������������HPO4
2-

 (aq) +    H2O(
)       →→→→     PO4
3-

 (aq)    +    H3O
+
 (aq)��

��
��&�Z��3��I�BF}3���l�O��)������u��<:�
��
���j¡�.<������\�*�����8>O����3�L�Z�<������\�:;�p��Z���

� �������HPO4
2-� �� �� �� � ������� H2PO4

-  � ���

� ��������PO4
3-�� �� �� �� � ���������H3PO4��
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:F���
� �������HNO3�� �� �� �� � �������HF� ���

� ��������CH3COOH�� �� �� � ������HClO��

��

��&���\����:;�p��j�A�#l�O��������B��4���HCN� ��!��X�j¡��G��#�$���
� ��������,�\�<����CN

-� ��?�H3O
+
 � �C6q� �� �� ���

� �������,�\�<����CN
-� �C6q��

� ��������,�\�<���H3O
+
 � �C6q��

� ��������,�\�<���� CN
-� �?�H3O

+� �,��<�
���HCN �� ����
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-�� �?��Na
+� ��,��<�
���Na2O ���

� ��������,�\�<����OH
-� ��,��<�
���Na2O ���

 ���������,�\�<����OH
-� ��?��Na

+� ��,��<�
���NaOH ���
 ���������,�\�<����OH

-� ��?��Na
+� �C6q��
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2-� ��#G���
�������� �H2PO4

2 -� �� �� �� ������ ����H2PO4
-� ���

 ���������PO4
3-�� �� �� �� � ��������H3PO4��
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�
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� �������H2SO4  � �� �� �� �� ������ �����H2SO3� ���

�������� �H2CO3� �� �� �� �� ������ ����� HCOOH��
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��&��<>������j¡������u��� HNO3�� ��3:�>8��
:F�BN����25ºC�� �Z��<����

 ����������\�:;�p��Z��3�L���L>3�H3O
+�.+�ML��1 × 10

-7
 M���

 ����������\�:;�p��Z��3�L���L>3�H3O
+�.+�)2��1 × 10

-7
 M��

 �������3.+�ML��;�TL�:;�p��Z��\����L>�1 × 10
-7

 M��� �� �� ���

 ����������\�:;�p��Z��3�L���L>3�H3O
+��B��T<1 × 10

-7
 M��

 

��&����q�Z��<�BN����G��<��2���������)������>*L�����

 ��������1 x 10
-5��[ H3O

+
]��� �� ������� ��1 x 10

-3�=�[ OH
 -
]� �

 ��������� pOH  =  10    ��������� pH  =  9��

� �� �� ���

��&�����2�{\�L��eI��O��.<�3�{��Q���Kw���B��T3���5.76 x 10
-14

���;�$���50 
o
 C���Z��3�L���L>3�Zsq�

���������B��T<���q����\�:;�p�� 

 �������B��T<��4.166  × 10
-8

 M� �� �� ��������B��T<��2.4 × 10
-7

 M� ���

 �������.+�)2���2.4 × 10
-7

 M�� �� �� �������B��T<��1 × 10
-7

 M��

� �� �� ���

��&��:;�p��Z��3�L���L>3���\;�$����������j�A�#l�O��������u������25
o
 C����

 �������B��T3��1 × 10
-7

 M� �� �� � ��������.+�ML�1 × 10
-7

 M� ���

 ��������.+�)2��1 × 10
-7

 M� �� �� � ���������;�TL�:;�p��Z��\����L>3�.+�)2�J��
� �� �� ���

��&�|�����������)������_��.+�#(�A��������^:�>8��
:F������25
o
 C�����L>3����q�Z��<��� 

�     ������\�:;�p��Z��3�L���1 × 10
-7

 M� �� ��     ��;�TL�:;�p��Z��\�����2 × 10
-12

 M��

�     �����\�:;�p��Z��3�L�� �2 × 10
-12

 M��� ��     ��Z��\��;�TL�:;�p����1 × 10
-2

 M���

��
��&�Rr�)]�8���pH��C��pOH�� �B��T<���14���;�$���25 °°°°C����� 

 ��������C6q���(�A��)���0��� �� �� ��     ����)���0���<;$�6���C6q���
�     ���C6q���F���O��)���0��� �� �� ��     �����l�O��)������R����

��



��������������	
�����
�������������������������������������� ���!"��������#��$� ����������%����������	� � 

��

��&�B��T<�#l�+������u�;�TL�:;�p��Z��\����L>3�Z�L��eI���1 × 10
-5�� �;�$��25ºC�� �Zsq� 

 �������9��	�
�:;�p���pH�B��T3����0������9� ��������B;$�2J���
 �������9��	�
�:;�p���pH�B��T3����0��������� �����F���+�������J��
 �������9���	�
�:;�p��pH���0�����B��T3����
� ��#(¡�������J��� �� ���

 �������9��B;�TL�:;�p���pOH�B��T3����0������5� ��������B;$�2J���
��

�	&�����������(¡�>*L��^:�>8��
:F�|������������)������_��.+���  25 °°°°C� �Z��<�BN��� 

�     ��9�����	�
�:;�p��������

�     ��9�����B;�TL�:;�p���������

�     ����q����\�:;�p��Z��3�L���L>3��1 × 10
-7

 M� �� �� ���

�     ����q�;�TL�:;�p��Z��\����L>3���1 × 10
-2

 M��

��

�
&��j�A���X�>�qk���'�"������BN���B�6�����HA�� ��������u�Z��<���#l�O�� 

�     ������l�
�.<��+J��
�     ����.<��O��-f��B������L>3HA��>
]���J��

 ���������#��+��<F�Z��3�����8�u�;
�<J��
�     �����:;�p��Z��3�L���L>3���\��j�A����L>3�.+�)2�CaJ���
��

��&��@F�
�O��n��\���u ��������j�A�#l�O����������CH3COOH��� ��� 

�     ��  CH3COO
-��?H3O

+�C6q���
�     ���CH3COOH�?�H3O

+�C6q���
�     ���  CH3COO

-�?H2O�C6q���
�     ���CH3COO

-���?�H3O
+���?���CH3COOH��

��
��&��	�
�:;�p��9������2��pH� ��j¡�������HC
� �����L>3�BN����0.0001� ��T3B�����

 ��������1��   � ��� ������10�� �� �� ���
�� ������3�� �� �� ��� � ��������4����
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�������������������������������������� ���!"��������#��$� ����������%����������	� � 

��
��&��������n��\���u����H3PO4 ,  H2PO4

-
 ,  HPO4

2-���  

�     ���n�����.<�3�{��Q����2�ML�H2PO4
-���

�     ����n�����.<�3�{��Q����2�)2�HPO4
2-� �

�     ���.<�3�{��Q��p�;
�<�k��
�     ���Q����2�)2���n�����.<�3�{�H3PO4��
��

��&��.<�����{��Q����2�{\�L��eI��Ka� ���������j�A���<:��q�:;�p��j�A����+:�
���j¡�.+�)����
���#G��<�ÇP���j�A���1.8 ×10

-4�?��6.7 × 10
-4��?��1.8 × 10

-5��?��6 × 10
-5� ���$�bW�3>�������

�Zsq��2�G��<��T�O����l�O���1������u���¡����Nj¡��G���L>���������
�     ���j¡������+:�
��� �� �� ��     ��j¡�������� �� ���
�     ���j¡��������<:��q�:;�p��� �� ��     ��j¡�<�ÇP����
��

��&��Z��{��$��eI��Ka� ������������¡���.+�)������CH3COOH�?�HC
O��?��HCN� ��#G��
�������1.8 × 10

-5��?�3.2 × 10
-8��?��4 × 10

-10� ��$�b��$��;<���e�Zsq�?�W�3>����bZ������ � ���
�     ���j¡��HCN� ��2���G�����6��T�����¡��J��
�     �� [ H3O

+
 ]������u��CH3COOH � ��ML��.+[ H3O

+
 ] ������u���HC
O� ����L>����5
\����BN���J��

�     ������2��pH� ��������CH3COOH ��ML�����2�.+��pH� �������HCN � ���5
\����BN�����L>������

�     ������2��pKa� ��j¡�������CH3COOH� ��B��T3��6.8� �J��
��

��&����2�{\�L��eI���Ka ���<:��q�:;�p��j�A��6.6 × 10
-4

  ��?��� Ka� ���\����:;�p��j�A��
������4.9 × 10

-10
 � �qs���������,�:�P�����;8I�Z�0�0]���������<��T�+��_(�A��Z���S���$���L>� ���

�     �����<:��q�:;�p��j¡�.<�3��
:F��u����B��TO����\����:;�p��j¡�.<�3��
:F�.+�)2���L>����
�     �����<:��q�:;�p��j¡���L>���u����B��TO����\����:;�p��j¡�.+�!�X��
�     �������2pH��<:��q�:;�p��j�A���.+�)2pH�u����B��TO����\����:;�p��j�A���L>�����
�     ��� [H

+
]���<:��q�:;�p��j¡�u�.+�)2� [H

+
]���L>���u����B��TO����\����:;�p��j¡�u��

��
��
��
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��
��&�����2�{\�L��eI��Kb� ��B��T3�_��\����10

-10�È4.6� ���B��T3�.<K�:;�1�����10
-7�È9.8� ��Zsq�?����

�     ����.<�3��
:F.<K�:;�p����.<�3��
:F�.+�)2_��\����u����B��TO����L>��J��
�     �����2��@;$�6L�_��\���.+��.<K�:;�p�J��
�     �������2pH�_��\����������ML.+����2��pH�.<K�:;�p��������L>����u����B��TO��J��
�     ���������u����L>3�B��T<�_��\��������;�TL�:;�p��Z��\����L>3.<K�:;�p��u����B��TO�����L>���J��
��

�������&#(¡�)��F����HIn�� �>¡����G���(�A������8�Z���­�>
]����G��<;$�6�������8�Z����­�,�>72�R(��{�X����
��������������u���+��#l�+������­�Z�L��esq[In

-
]�B��T<�������u� [ HIn ]�������Zsq�?�J 

 �������>¡���Z������Z���<�J� �� �� �� � ���������Z���<�>
]���Z�����J� ���
 ���������63M���Z������Z���<J� �� �� �� � ���������\���-'�<�kJ��

��
������	&�#(¡�)��F�HIn����_���+���;+��&����� ��������I���+�,�>72�R(��{
�X���esq�����pH������ ������Zsq� 

 ������)��;�����(�A�����A��Z����Z���<�J�� � �����Z������������Z���<��)��;���#7�����J��
 ��������<;$�6������A��Z����Z���<�J� �� � ���������\���-'�<�kJ��

��
�
&������2�{\�L��eIpKHIn(¡�)��;���#�B��T3���3.5� ��<;$�6�������8�Z����>¡����(�A������8�Z����
���������u���+�,�>72�R(��{�X�>
]��w�+,�\��>L�������3�P���K2CO3���pH�<<<<�7 ���Zsq��������wP"<���

�� �����Z�����>¡�� �� �� �� ��� ��������;$Z���� �
�� �����Z�������63>�� �� �� �� ��� �����Z�����>
]���

��
��&����.<�����{��Q�#(¡�)��F���KHIn= 1 x 10

-9� ����3�\�<���Z����>
]����G�.<��O��-f�)��;���Z���?��G��
��������������I�>76O����O��.+����L�{
�X��?��:K���Z������Z���<�������Zsq�?�)��;����

 �����>
]������� �� �� �� � ������:K������
 �����>(g������� �� �� �� � ������#VT
�P������

��
��
��
��
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��

��&�(�A��)��;���#7�����Z�����>1[<#���HIn�� ��Z��<��+;�$��� �

 ��������[In 
-
 ]��B��T<�[HIn]���� �� � ���������[In 

-
 ]��.+�ML���[HIn]� �

 ��������[In 
-
 ]����.+�)2���[HIn]� �� � ���������pH���B��T3����0�����7�� �

��
��&���9��6��	�
�:;�p��9�pH��#�<��+�R�r���;a����.�����l�O��)���0����;8����;$�� 

�     �����F��������F�J��
�     ����2:������F����E>d������

�     ����9��2�K�1
��	�
�:;�p��9J� �� �� ���

�     ��;1���9��6+J���
��

��&���#(¡�)��FHIn�.<�����{��Q����KHIn� ��B��T<�����1 x 10 
-5�� ���?;8��u��<;$�6�������8�Z����>1[<��\sq���

���������B��T<�	�
�:;�G�9�����2����BN������������)������� 

�     ���� 3� �� �� �� �� ��     ����5�� �� �� ���
�     ����4�� �� �� �� �� ��     ����6���
��

��&���#(¡�)��FHIn����{��Q���.<���KHIn� ��B��T<�����1 x 10 
-5�� ���?Z����>¡����(�A������8�Z�������8����

��������;��q�>
]���<;$�6���RX����_
�:;�p��9k�������u����+�,�>72�R(����� ��Z������Z���<�Zsq���� 

�     ����>¡k���� �� �� �� ��     �����>
]���� �� �� ���
�     ������63M���� �� �� �� ��     ��������BF:����>¡���
��
��&���F���O���������pH = 7� ��#7�<�� 

�     ��\��S�3>�����6S����63M���)�*�O��R+�J� �� ���     �����63M���)�*�O��R+�>
]��S�\��J�� ���
�     � ��S�\�B;$�6����:K�������*���R+��:K������J�     ���\��S��>¡���)�*�O��R+�>¡���J��
��

�������&¡�)��F��#(HIn��G���(�A������8�Z���>
]���­���G��<;$�6�������8�Z����:K���­����+�,�>72�R(��{�X����������
�������������u�#l�+������­�Z�L��esq[In

-
]�B��T<�������u� [ HIn ]�������Zsq�?�J 

�     ���Z������Z���<>(g���J�� �� �� ��     ����>
]���Z������Z���<�J� ���
�     ���Z������Z���<�:K��J�� �� �� ��     �����\���-'�<�kJ��
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�6��D����������6��D����������6��D����������6��D�����������������������@/(�
H��G���������.)N��%���.�	�/����>�.�<�D����E1���@/(�
H��G���������.)N��%���.�	�/����>�.�<�D����E1���@/(�
H��G���������.)N��%���.�	�/����>�.�<�D����E1���@/(�
H��G���������.)N��%���.�	�/����>�.�<�D����E1�����������������
��
��&����L>3�.+�;<�3�Z��R�7�T3�|���@F�O�3�L����\�:;�p��Z��( H3O

+
 )�������u�#l�O��b�T3��&&&&�&&�&&&&J���

��
���&��|���,�PL>O���
�3�M��3�#l�O��������u�;�TL�:;�p��,�\��\��#7����&&&&&�&&�&�9����G:����1
+�WT8�J��

��&����<M����j¡���H2SO4� ���¡���.+� �&�&&&&&�&&�M���Z�3�J��
��
��&��u��)8�>+�.<�3�K��<M����j¡��H2SO3 ���Z��3����2��Ka1� ��&�&&&&&�.+�����2��Ka2 �J��
��
��&������j�A�#l�O�������������CH3COOH ��,�\�<��b�$�B��4�  &�&�&�&&&&&�&& ?�&&&&&&�&�&�&&����

���������I��q�Xz��&&&&&�&�&&�&&&&J���
��
��&��j�A�#l�O���������<>�������HNO3 ��b�$�B��4��&�&&&&&�&&&&���?��&&�&&&&&�&&�&&&J���
� ��
��&��<:�
��
���j¡�.<��<� ( H3PO4 )b�$��&&&�&&�&&&&&&)8�>+�J���
��
	�&3�|�����¡����b�$�.<���@;$��������8>O��u��1�<�3��
:F�Z��3�)8�>+�&�&&&&&�&&&��\�*����1�<�3��
:F�J���
��

�&�;���L��)$�
�3����,���
��<��6���)�����h�������O��R+�&&&&&�&&�&&&��J��
��

���&��.+���72���6���;�$�����3�P���Z���<���O��u�WL>+��&&&&&�&&&&�_
�:;�p��K�f���7�<����J 

��
��&�;�$��Z���e��O��u���<F�"���;�TL��h��<��WL>+��#G���l����������'�]&&&&�&&�&&&�&&J���
��

��&��;�V���~LÉ3�WPT3����<F�"���;�TL�:;�G�.+�@�L>O��)������1]��g�WPT��&�&&�&&&&&�&&&&J���
��
��
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H2O 

��
��&���N<�;�TL�:;�G��<F�"���( NaOH ) \��+���O��u�S��,�\�<��b�$�B��4��������&&&&�&��&&&&&�&J���
��
��&�,�\�<��b�$�B��4��<:��L�:;�p��j��#l�O���������&&&&&�&&&&����&&&�&&�&&&&&�SC6q�J���
��
��&�\�3�>��j�A��;6
<��+;�$S����H

+�� ������0�<�&&�&&�&&&&&�;�T\�>����1
+�WT8���&��B:�� 

��&����G��q�>O��j�A�&&&�&&�&&&&&�&��\�3�>��{�P6�����J 

��&���������)$�
����u��HNO2(aq)    +     H2O(
)                                H3O
+

(aq)    +    NO2
-
(aq)                     � �

����������6q�>O��@;$�6����#G�&&�&&&&&�&&�&&&&&����

 

�	&��������)$�
����u��H2O (
)      +     H2O(
)                                H3O
+

(aq)    +      OH
-
(aq)            ���

��������t������O����T<&�&&�&&&&&�&�;�T\�>����1
+�WT8��&B:�����
��

�
&�����������������������HPO4
2-

(aq)   + H2O                                     ------------ +    ------------��
��

��&�HNO3(aq)   +   H2O    →→→→     ------------ + ------------                           ��
��

��&�NH3 (g)  +   H2O                        ------------  + ------------                         ��
��

��&��NaOH(aq)                        ------------ +     ------------                            ��
��

��&��j�A��6q�>O��@;$�6��<�:;�p���<F��HI���&&&�&&�&&&&&&��J����
��

��&��������)$�
����u�  +   H2O      →→→→       SO4
2-

 +    H3O
+
                 � HSO4

-��
���������#G��6q�>�O��«��K���&&�&&�&&&&�?��&�&&&&&�&&&�%%��&&&&�&&�&&&&�?�&�&&�&&&&&&��

��
��&�������)$�
����u���NH3  +   HC
      →→→→     NH4

+
 +   C
-  ���������\�+���Z��3�L�M��<( NH4

+ 
)�� �

��������&&&&&&&&&������S�6q�>+��\�+��������M��<�( HC
 )��&�&&&&&�&&&&����Z�<��S�6q�>+( C
-
 )

��J��
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��&��'�]�j�A����\�+����q�>O��( NH3 )��G&�&&&&&�&&�&&�&J� ��

 

��&#G��������q�>O��j�A���'�]��&&&&&&&�&&�&  �6q�>O���3;$�2��'�]�#G����&&&&�&&&&J���
��

�	&��6q�>O���3;$�2�Z��3�B�6���j�A��&�&�&&&&&��q�>O���1(¡�Z��<��<�6���@;$�6���?��&&�&&&&&J���
��

�
&�j�A��!��(����6q�>O���3;$�2�Z��3��&&�&�&&&&�@;$�6���?��
��(����q�>O���1(¡�Z��<��&&�&&�&&&J���
��

��&�Z�<����q�>O��jA���'�]�( SO4
2-

 )#G��&�&&�&&&&&&&��Z�<����6q�>O��@;$�6����'�]������H2PO4
-���

��������#G��&&&�&&�&&&&&�&J� ��
��

��&�j�A��6q�>O��@;$�6���( HC
 )�&&&�&�&&&&& �j�0����6q�>O��@;$�6���.+�( HF )�J��
��

��&�������)$�
����u���HSO4
-
  + OH

-
        →→→→        SO4

2-
   +     H2O  ����

��Z�<��M��<������ HSO4
-
 �&&&&&�&&��¥��S�6q�>+�&&�&&�&&&&&&J���

#G�)$�
�����NG�u��6q�>�O��«��K�������&�&&�&&&&&�?��&&&&�&&&&�%%��&�&&�&&&&&�?�&&&&�&&&&��
��

��&������)$�
����u����HC
 + H2O                       H3O
+
   +  C
-���

����\�:;�p��Z��3�L�M��<������&�&&&&&��M��<�������?�������S�6q�>+�\��Z��;<:���� ��&&�&&&6q�>+���¥���&&&&&�&&���
#G��6q�>�O��«��K����������&&�&�&&&&& ?�&&&&&�&&&& %%�&&�&&�&&&&&� ?&�&&&&&�&&& ��

��
��&�������)$�
��������������H2O(
)    +    H2O(
)                   H3O

+
 + OH

-
 ��

���������Z��b�$��;<���O���F��O��.+��&�&&&&&�&&&\�>����1
+�WT8�T�;��&�B:��J���
��

��&\�>��@;$�2�T;��&�|���#G�B:��&&&&�&�&&|���#G�5<���@;$�2�������,�\�3�>����&&&&�&&�«�K,�\�>�����J��
��
��
��
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��&��������)$�
����u�������   �H3N:     +      A
C
3          →→→→        [H3N : A
C
3] ��

��������M��<�&&�&&&&&&5<���j¡�?����M��3��������&&&&�&�&&&&&��2��5<���@;$J��
��

��&�R+�_
�:;�p��Z��3�L�)$�
3�;�$���;�TL�:;�p��Z��\��H
+

(aq) +  OH
-
(aq)     →→→→     H2O(
) � �

��������Zsq��M��<�;�TL�:;�p��Z��\�&&&&&�&&&?5<������������&&&&&&M��<��&&�&�&&&&&�5<���J��
��

�	&�.<>"�$�b�$�B��c�|�����¡�������¡��b�T3�_
�:;�p����;8&&&�&&�&&�&&>"�����J���
��

�
&�j¡�( HBr )��j8�M��<&&�&&�&&&&&�&&& Z�3�M���J���
��

��&��'�"����p�|�����¡������X�>�qz���+���� ( H2A ) ��¡��b�T3 &&�&&&&&�&&�& �>"����� �
�����������¡����&&&&�&&&&&��Z�3�M���)*+���H2SJ� ���

��
��&�j¡�.<��<���:�
��
�<��� H3PO4 �b�$�&&&&&&& �)8�>+ J��
��

��&�����Q�>"�$��_VTL����?�_
�:;�p��b�$�B��c����VTL�����¡����P��f��+Z��<��&&&�&&�&&&&&J���
��

��&j¡�M��<��<:������j¡�&&&�&&& �j¡�������?�Z�3�M������j¡�M���q��<:�
T
&&&&�&& �Z�3�M���J��
��

��&����<:�P���;�TL�:;�G�� Ba(OH)2 �;$��6���.+���<�6���&&�&&&&&&��;�TL�:;�pJ��
��

��&��#G�K��<M����j�A���l���������'�"���&&&�&&�&&&&&�&&&&&J���
��

���&����\�:;�p��Z��3�L���L>3����T�<��+;�$���H3O
+

�� �;�TL�:;�p��Z��\����L>3�R+���OH
-� ��#l�+������B��u

��������������-Q�3�Z��<���&&&&�&&�&&&&&&J���
��

��&��.<�����{��Q����2��Kw� ��$���O�@:�>8��
:F�;���25ºC� ��B��T3�&&�&&�&&&&&�&&&J���
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�	&����O��u�j¡����e��;�$�������u�;�TL�:;�p��Z��\����L>3�Zsq�&&�&&�&&&&��.$1 x 10
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�
&��������uB;$�6������\�:;�p��Z��3�L���L>3�Z��<��&&�&&&&&�&&&&&�;�TL�:;�p��Z��\����L>3�J 

������O��������u�B��T<����\�:;�p��Z��3�L���L>3�Z��<��F��&&&�&&�&&&&&�&&;�$��25ºC� 

��&�����2�Z��{��$��eI��Kw�� �;�$�#6�����������C�47 
°°°°�� �B��T3��4 × 10

-14��� Z��3�L���L>3�Zsq�

����_
�:;�p�� [ H3O
+
 ]�#6������O��u�;�$5
\�
:;���B��T<��&&&&&�&&�&&&&&��

��
��&�p��Z��\����L>3�Z�L��e�B��T<�#6����������;�TL�:;����1.5 ×10
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°°°°�����Zsq
��������B��T<����\�:;�p��Z��3�L���L>3�&&&&&�&&�&&&&&��@:�>A���
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\�;�$J��
 

��&�B��T<���q�;�TL�:;�p��Z��\����L>3�#l�+�������0.01 M�;�$ºC �25����\�:;�p��Z��3�L���L>3�Zsq�u���NG
���������B��T<������&&�&&�&&&&&�&&&J���

 

��&�	�
�:;�p��9������2�{\�L��eI���pH�� �B��T3�B��2�������11�� ;�$�25ºC��9������2�Zsq
�������B;�TL�:;�p���� pOH� B��T3���������NG�u��&&�&&&&&�&&&&&����

 

��&�������2�#(¡�)��F���� pKHIn����5��� \sq�?����.+�,�>72�R(���q�XI�;�$�����<F�"���;<:��L�������I�)��;��
����������NaCl�� ����pH�B��T<����7�� �Z���<�������Zsq�Z�������A����&&&&�&&&&��)��;���J���������� �

��
��&��B;$�6����:K�������*���)��F�.+�,�>72��q�XI�;�$�����)��;����;+8�–�9.6�� ��������I��;�TL�:;�G

�����������<F�"����NaOH�� �����pH�B��T<����11�� ��Z������Z���<�������Zsq�&&&�&&�&&&&�J��
��
��&���63M���)�*�O��)��F�.+�,�>72��q�XI�;�$�����)��;����;+3.1�–�4.4�� ���I��100 mL� �.+����O���>76O���

����������Z������Z���<�������Zsq�&�&&&&&�&&&&J����
��
��&����.<�����{��Q�#(¡�)��F���KHIn�����7.95  x  10 

-5� ��	�
�:;�p��9������2�Zsq�?��pH�� �����0�����
����������B��T3��#7�����Z������)��;�����q�>1[<�BN���&&&�&&�&&&&&J����

��
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�
&��e�����e����0.5 moL�_
�:;�p��;<:��L�K�f�.+�HC
��O��u������=V8�wP]���� ��������� Zsq�,�>���

���������B��T<�������u�_
�:;�p��,�\��3�L���L>3�&�&&&&&�&�&&&&&���+��%>��J���
 

��&��.<�����{��Q����2�{�2����L��Ka�� j�0������������������2�j�A��@J 

��&��	�
�:;�p��9������2�BN����<:��L�:;�p��j¡��������L>3��pH �� 3�B��T��2 ���B��T<�&&&&&&�M 

��&����\�:;�p��Z��3�L���L>3���<F�"���;�TL�:;�G������u��&&�&&�&&&&&�:;�p��Z��3�L���L>3����\��������u
�����������L>��������B��TO��.<K�:;�p��J��

 

��&�����<:��L�:;�p��j¡������	�
�:;�p��9�&&&&&�&&�&&&&&���j¡������	�
�:;�p��9��������
����������L>��������B��TO���������J���

��
��&���������j�A�Zk����CH3COOH���\����:;�p��j�A���HCN�{��$��esq���L>�����<��T�+��Z��Ka�

���������#G���������j�A��1.8 × 10
-5�� ���2���Ka��#G���\����:;�p��j�A��4.5 × 10

-10�� ������Zsq��BN��
���������9����	�
�:;�G�pH��j¡�������G�)2�&&&�&&�&&&&&&& 

��
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I1�J��������I1�J��������I1�J��������I1�J���������������������:�:B���!���5�������H�K�2A��2���:�:B���!���5�������H�K�2A��2���:�:B���!���5�������H�K�2A��2���:�:B���!���5�������H�K�2A��2��L LL LL LL L LL LL
����������������

��

��&���������j¡�8�CH3COOH�� Z�3�M����<F�8����¡k��.+�M��<J����

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&&&&�&&��

��&S�(¡�Z�*�O��K�f�>��<k�J���
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&&�&&&&&�&&��
��&���<F�"���;�TL�:;�G�.+��L>+������-(c�.���J��

&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&
&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&&�&&&&&�&&��

��&���

����l�F�Z��3����T�'O��;�TL�:;�G�?����T������;�TL�:;�G�)����J��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

�&&�&&&&&�&&�&&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&&�&&&&&�&&��
��&�����\�+��NH3�;�T\�>���<>[\�WT8�@;$�2�M��3�&��B:���J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&&�&&&&&�&&��

��&��x<���T��O�L����S��+�FF>S��WT8���1
+\�>��T�;�–�B:�����
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&&�&&&&&�&&��
��&���������)$�
����u������������H3N    +    BF3       →→→→       H3N:BF3��� �

������$�2���\�+���M��3�5<���j¡�Z�:�P���;<:��q����Q�M��<�������?�5<���@;��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&�&�&�&&&&&�&&�&&&&���
	�&��Z�:�P���;<:��q����Q�M��<�k���BF3� ��;�U\�>����¡��.+–.+�M��<�������B:���5<�����¡����

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&�&&&�&�&&&&&�&&�&&&&&�&���
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�&��<�Z��\����T�{<>�������NO2

- ����;�T\�>���<>[\�WT8�C6q�@;$�6L-�B:���J��

&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&
&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&&�&&�&&&&&�&&�&&��

��&��#6������O�-Q������F���+�@:�>A��,�
:F�R�r�;�$J���
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&&&&&�&&�&&�&&&��
��&����������j¡�M��<���CH3COOH� �S�
��X�S�(¡��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
�&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���

��&���	�
�:;�p��9���PH ���������j¡��������CH3COOH�����.+�ML��
�:;�p��9j¡������	�
����������<:��L�:;�p���HC
����L>��������B��TO��� �

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
&&&&�&&�&&&&&�&&�&&&&&&�&&�&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&���

��&� ���������	�
�:;�p��9���.+�)2����\�+�����	�
�:;�p��9��<F�"���;�TL�:;�G��������L>��������B��TO�
&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&

&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&���
��&��<:��L�:;�p��j¡������u�HC
�.<��O��-f�j�A����L>3��Z��<�!
aO��HC
�S�>
]�B��T<��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���

��&����(�A������8�Z����#(�A��)��;���>1[<��HIn��,��<����� �RX��;�$���+�,�>72����PT�����#(¡�C���u���
�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&

�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&�&&&�&&&��
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&����

��&���<;$�6�������8�Z����#(�A��)��;���>1[<��In 
-��,�\�<��� �RX��;�$��+�,�>72��C���u�B;$�2����PT������ �

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&
�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&

&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&&&&�&&�&�&�&&���
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MN�����������MN�����������MN�����������MN�����������������������>�c�d��1�o+j���O��!�A���.)N��%���"7�>�c�d��1�o+j���O��!�A���.)N��%���"7�>�c�d��1�o+j���O��!�A���.)N��%���"7�>�c�d��1�o+j���O��!�A���.)N��%���"7���H��K�2-���H��K�2-���H��K�2-���H��K�2-�����������������
��
��&����O��R+���<F�"���)$�
3J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
��&���O��u���<F�"���;�TL��Z���e�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
��&����O��R+������3�P���)$�
3J��

&&&�&&�&&&&&�&&�&&&&&�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&���
��&�;�TL��Z���e������3�P�����O��u�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
��&�Z���e����O��u�_
�:;�p��;<:��L�K�fJ��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
��&��������Ã�N���.<����J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
��&�)$�
3�#Q~Q���\�+���R+�Z�:�P���;<:��q�J��

�&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&�&&�&&&&&���
	�&����O��u���\�+���K�f�Z���eJ��
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�?��@�j�^��#1��s��1�,�P�������������=��2!-&�@�j�^��#1��s��1�,�P�������������=��2!-&�@�j�^��#1��s��1�,�P�������������=��2!-&�@�j�^��#1��s��1�,�P�������������=��2!-&����������������
��

�� ����O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$��
y!:��y!:��y!:��y!:����������

����+j�D%������+������+j�D%������+������+j�D%������+������+j�D%������+����������
���O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$��

����+������+������+������+����������
�r�lj�D%��y!b��r�lj�D%��y!b��r�lj�D%��y!b��r�lj�D%��y!b���������

���H3O 
+

 � �NO3 
-

 � �

���HClO3 � �NH3 � �

���HCO3 
-

 � �CN 
-

 � �

���NH4
+

 � �OH
-

 � �

���CH3COOH � �Cl
-

 � �

��
��

$��
���O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$��

y!:��y!:��y!:��y!:����������
y!b��'(�y!b��'(�y!b��'(�y!b��'(���������

���O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$�����O��!�A����`�$��
y!:��y!:��y!:��y!:����������

y!b��'(�y!b��'(�y!b��'(�y!b��'(���������

���HClO � �HNO3 � �

��� �<:������j¡� � ���<M����j¡� �

���H2SO3 � �H2S � �

�����K�+�M���j¡� ����<F�<�:;�p��j¡� �

������<>������j¡� �HIO3 � �

���HBrO2 � ����<:��L�:;�p��j¡� �

��� ��������j¡� �H3PO4 � �

	��HNO2 � �����\��>����j¡� �

��
��
��
��

��
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�§�������NG�!�]�?���(¡��I��1���PE�WT8�)��<;$�2�?���F���+�J��
�§��1��(¡�WT8��<;$�"3��P�3>3�)�������NG�W3:�����(¡�>*L����I���(¡�)2���.+ J��
�§���1�<;$�2�WT8����K��3��P�3>3�)�������NG�W3:����<;$�2�)2����I��<;$�2�>*L���.+ J��

E D C B A 86����� 

  1 x 10
-10

  1 x 10
-3

 [H3O
+
] 

1 x 10
-7

 1 x 10
-13

  1 x 10
-3

  [OH
-
] 

     86������L6% 

��

����������������������������������������������������������������

��&��W�L�,kF��+�<:�
��
���j�A�y~*���.<������8H3PO4 �� �F;8�Ê���2��j�A���1�q�Z��<�)8�>O��B�J��
����������������������������������������������������������������

��

��&����L>3�#l�+������[H3O
+
]�B��T<���q���0. 2M;�$�ºC �25�J� ���L>3�WT8�[OH

-
] u� ������J��

����������������������������������������������������������������
��

��&����L>3�#l�+�����[OH
-
]�B��T<���q���0.004M;�$��ºC �25�J� ��L>3�WT8����[H3O

+
]�������u�J��

����������������������������������������������������������������
��

��&���L>3�Z�L��eI�[OH
-
]�B��T<�����+�@:�>8��
:F�;�$�#6������O��u����3.5 � 10

-7
M

�� �?�WT8�q��{��Q����2
�������������.<������Kw�� ���
:;����NG�;�$J��

����������������������������������������������������������������
��

��&��:;�p��9���Z�L��eI�TL;B���pOH��� �!��X�j�A��HA� �B��T<���11� �.<�����{��Q�Z�L����Ka�� ��
�����������B��T<��1 × 10 

– 5�� �����7O������
§��L>3���T8�j�A��������O���%�>���Z��3z��;�$J��
§����T8�MOH 

-N���������u�J��
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	�&�����L>3���������j�A�Sk����W��E�>(8��0.1 M�� 	�
�:;�p��9������2�9��6����2�Ê�pH����������

�������G;
�q��2.88� �����7O������
�§�:;�p��Z��3�L���L>3���T8���\������u�� [H3O

+
]J��������������������������������������������

§�.<�����{��Q����2���T8�Ka��j�A�����������J��
��������������������������������������������������������������

��

�&����(�A���<F�8���
��X�@;$�2��BOH ��	�
�:;�p��9������2��pH�� �B��T3��p��8.75�� ������u

���������L>3�0.1 M � ���.<�����{��Q����2�WT8���Kb�� @;$�6����Np�J��
����������������������������������������������������������������

��

��&������������¡���W3:��^�2�WT8��<;$�"3�?��1T
\�@:�>A���
:F�;�$����L>�����<��T�+��Å���S���$J��
���������+:�
���j¡�������Ka = 1.8 � 10

-4�� ���?��<�\���M���j¡��Ka = 1.3 x 10
-5

   ���
������K�:��L�P�p��j¡���Ka = 3.0 x 10

-8
 �� ��?�K�:������j¡�������Ka  =  1.1 x 10

-2 ���
����������������������������������������������������������������

��

��&�<;$�"3���������;$��6���W3:S��1T
\�@:�>A���
:F�;�$����L>�����<��T�+��Å������$�?��^�2�WT8�����

��������\�+�������������1.8 x 10
-5�Kb =� ������

� �����.<;<M�� ���1. 7 x 10
-9

�Kb =���  � 

������_+��)�*�+�#l��Q���5.4 x 10
-4

�Kb = �� ����� ����_+��)�TL�:;�G���1.1 x 10
-8

�Kb =���  

����������������������������������������������������������������
� ���

��&��#X�>�qk����
���Z��3�L���L>3�Z�L��eIM
2+�u��;�TL�:;�G����� M(OH)2 �B��T<�.<�������3� �

��������� 5 x 10
-3

 M�� ;�$ ��ºC�25�� �J�	�
�:;�p��9������2�WT8��� pH  ��������NpJ��
M(OH)2     →→→→     M

2+
    +    2OH

-
                                              ��

����������������������������������������������������������������
��

��&��	�
�:;�p��9������2�Z�������-"$�.+����$��pH� ��B��T3��p��3.4� ��;�$��25º C� ��J�.+�)L�WT8�
���������:;�p��Z��3�L���L>3���\��������u�;�TL�:;�p��Z��\��?�J��

��
��
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��&��.<�����{��Q�#(¡�)��F��K HIn� �����10 

-4
 �x�3.15�� A������8�Z����?�Z����?�>¡����G���(�������8����������

���������<;$�6��������2���T8����7O���?�>
]����GpH����Z������G;�$�>1[<�|������0������
��������)��;�����63M����?��)��;���>
]�����?���)��;���>¡��J���

����������������������������������������������������������������
��&��F����.<�����{��Q�#(¡�)���KHInG���1  x 10 

-9������ �G��3�\�<��Z����>
]����G�.<��O��-f�)��;���Z����?���
����������:K��������u���+�,�>72�R(��RX��;��q���

§����2���pH� ����B��T3������ �Z������Z���<��\sq&&&&�&&�&&&&&&��
§����2���pH� ������B��T3������� �����Z���<��\sq�Z�&&&&&�&&�&&&&&��
§����2���pH� ������B��T3��
�� �Z������Z���<��\sq&&&&�&&�&&&&&&��
§����2���pH� ����B��T3������� �Z������Z���<��\sq&&&&&�&&�&&&&&��
§���<F�"���;<:���������2��pH� ��B��T3�����7� ��Z������Z���<��\sq�&&�&&&&&�&&&&&��

��������������������������������������������������������������
��&�P<e����L�{.+�K�f����O��u���\�+����¢8�������t>3�������Z��3k��y;8����

NH3(g)    +    H2O(
)                          NH4
+

(aq)    +    OH
-
(aq)��

����B��T<�������u�;�TL�:;�p��Z��\�����\�+���.+�)L���L>3�Z��;
��Z��3k��;�$����0.02 M�@��0.0006 M�� 
����?�W�3>����b�$���7O���T8������2�{��Q@;$�6���.<�3���Kb�� ���T�����[���J����

����������������������������������������������������������������

��&����+:�
���j�A������t>3�HCOOH  ��� �������Z��3k��y;8�¢8���O��u�����
HCOOH(aq)    +    H2O(
)                          HCOO

-
(aq)    +     H3O

+
(aq)��

�������B��T<�Z��3k��;�$�������u����\�:;�p��Z��3�L���L>3�Z��;
���esq�4.2 × 10
-3

 M �� �WT8�q�?
��������L>3��{��Q����2�Z������$�?�Z��3k��;�$�j�A�j�A��.<�3���Ka�� �B��T<��1.764 × 10

-4� ��

����������������������������������������������������������������
�	&��!��X�j�A�������Z�3�M���BF�8���L>3�HA���0.2 M�� �u����\�:;�p��Z��3�L���L>3��

����������NG�������B��T<���9.86 ×10
-4 

M�J� �����7O�����
��&���T8�����2��	�
�:;�p��9���pH ���������Np�J��

��&���T82�.<�����{��Q�������Ka�� �j�A���NpJ��
��
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